@ CN CNC TOOLS

M S K N R 25 25-M 12

1 2 3 4 5 6
Clamping Method Clearance Angle Height of
of Insert Insert Shape  Holder Style of Insert Hand Shank

7 8 9

Width of
Shank

Length of
Holder

Length of Insert
Cutting Edge

o Clamping Method of Insert

e Insert Shape

E T % e

o and hole clampint o and hole clampin; Top and hole clampin
(Mu\ clamp, pin and glamgp (Mul clamp, pin and gla%p) Hole clamping(Pin lock) (Wedge clamp, pin and%\ar%p)

C D M P S W

Top clamping without hole Screw on

e Holder Style
75° 45° 60° 90° J— 75°
m ﬁ m ﬂ 9(§ﬂ o5

B D E F G J K

XY
= () /\
< &

0 Clearance Angle of Insert

15° \ 20°

B C D E

- 25° 0o NURYZRTR

F N P

"\95“ 45° 60° 72.5° 85°
U 63° r l 75° g \T\ N ﬁ
95°
L N R S T
6 Height of Shank

e Hand E]

0 Width of Shank
.

w
e Length of Holder e Length of Insert Cuttlng Edge
-®
@) CDE
@(5 A-32 H-100 Q-180 /A'B'K/ MY, @ -
B-40 J-110 R-200 | L] 1] |
C-50 K-125 S-250 :
- D-60 L-140 T-300 X-?tpemal @ @ @
IS E-70 M-150 U-350 em 0 1] L1
F-80 N-160 V-400 S
G-90 P-170 W-450 T
| ] 1]

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

H MCFNE!
SPEIZEHI
i T & I

o 5
iﬁ;

MCFNR/L 1616H12 oo
2020K12 [ 20 | 20 |125| 32 | 20 | 25 PL25 oo
2525M12 | 25 | 25 | 1501 32 | 25 | 32 |CND0120400 CTM617| SC1204 PL30 ML625 |HL1814 o o
3232P12 | 32 | 32 |170] 32 | 32 | 40 oo
3232P19 | 32 | 32 |170| 37 | 32 | 40 |cNO119060J1|CTM1022| SC1904| PL40 | ML830 | HL2217 | @
m MCLNE!
S5hEZF A
S T 2

MCLNR/L 1616H12 16 | 16 |100| 32 | 16 | 20 e o
2020K12 20 | 20 |125| 32 | 20 | 25 PL25 o o
2525M12 | 25 | 25 |150] 32 | 25 | 32 CN..1204.. |CTM617| SC1204 PL30 ML625 | HL1814 o o
3232P12 32 | 32 |170] 32 | 32 | 40 o o
2525M16 | 25 | 25 |150| 37 | 25 | 32 PL30 e O
3232P16 35 | 32 [170| 37 | 32 | 40 CN..1606.. |CTM822| SC1604 PL40 ML830 | HL2217 S
3232P19 32 | 32 |170| 37 | 32 | 40 e O
4040R19 40 | 40 | 200! 38 | 40 | 50 CN..1906.. |CTM1022| SC1904| PL40 ML830 | HL2217 o o

E MCBN#E!

ShEIZEHI

5&
}

MCBNR/L 2020K12 20 | 20 |125| 32 | 20 | 17 PL25 o | e
2525M12 | 25 | 25 |150| 32 | 25 | 22 | CN..1204.. |CTM617| SC1204 PL30 ML625 | HL1814 | @ | @
3232P12 32 | 32 |170| 82 | 32 | 27 ° |0
2525M16 | 25 | 25 |150| 37 | 25 | 22 PL30 °o | o
3232P16 32 | 32 |170| 37 | 32 | 27 CN..1606.. |CTM822| SC1604 PL40 ML 830 | HL2217 o
3232P19 32 | 32 |170| 37 | 32 | 27 | CN..1906.. |[CTM1022| SC1904| PL40 | ML830 |HL2217 | @

m MCGNZ! =

M B 25 2l

i 1

BEEH n Bzl |
=1

MCGNR/L

1616H12
2020K12
2525M12
3232P12

16
20
25
32

16
20
25
32

100
125
150
170

32
32
32
32

16
20
25
32

20 e o
25 PL25 e o
3 CN..1204.. |[CTM617| SC1204 PL30 ML625 | HL1814 ol e
40 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H [VMICKNZ!
o A

FiRMm75°

MCKNR/L 1616H12 16 | 16 |100| 32 | 16 | 20 ° o
2020K12 20 | 20 |125| 32 | 20 | 25 PL25 ® o
2525M12 25 | 25 |150| 32 | 25 | 32 CN..1204.. |CTM617| SC1204 PL30 ML625 | HL1814 PP
3232P12 32 | 32 |170| 32 | 32 | 40 o o
2525M16 25 | 25 |150| 37 | 25 | 32 PL30 L
3232P16 32 | 832 |170| 37 | 32 | 40 CN..1606.. | CTM822) SC1604 PL40 ML 830 HL2217 | @ | O
3232P19 32 | 32 |170] 37 | 32 | 50 | CN..1906.. |[CTM1022| SC1904| PL40 | ML830 e | O

m MCSNZ#!

ShEI% I -j
45REBIf - ‘
ﬁi—j

MCSNR/L 1616H12
2020K12
2525M12
3232P12

16

20
25
32

16
20
25
32

100
125
150
170

32
32
32
32

16
20
25
32

20 e e
25 PL25 °o o
32 CN..1204.. |CTM617| SC1204 PL30 ML625 | HL1814 ol e
40 o | o

B MCMNN-803!

SMEFEH
50 &l

MCMNN 1616H12-80 | 16 | 16 |100| 35 | 16 | 8 °
2020K12-80 | 20 | 20 |125]| 35 | 20 | 10 PL25 4
2525M12-80 | 25 | 25 | 150| 38 | 25 |12.5 CN..1204.. |[CTM617| SC1204 PL30 ML625 | HL1814 °
3232P12-80 | 32 | 32 |170| 38 | 32 | 16 °
2525M16-80 | 25 | 25 |150| 43 | 25 |12.5 PL30 °
3232P16-80 | 32 | 32 |170| 43 | 32 | 16 10w | CTVBESISeTe04 PL40 ML HL2217 | e
3232P19-80 | 32 | 32 |170] 45 | 32 | 16 | CN..1906.. |[CTM1022| SC1904| PL40 | ML830 °

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

MCMNN-100%4
SpEIZEHI
40E R

MCMNN 1616H12-100 | 16 | 16 | 100| 35 | 16 | 8 .
2020K12-100 | 20 | 20 | 125| 35 | 20 | 10 PL25 .
e 2y | 10 ON.1204.. |CTM617| SC1204| [ 2% | ML625 | HL1814|
3232P12-100 | 32 | 32 |170| 38 | 32 | 16 .
2525M16-100 | 25 | 25 | 150 | 43 | 25 [12.5 PL30 .
3232P16-100 | 32 | 32 | 170| 43 | 32 | 16 | CN-1606.. | CTM822 SC1604) '\ | MLB3O |\ opy7|
3232P19-100 | 32 | 32 | 170| 45 | 32 | 16 | CN..1906.. |CTM1022| SC1904| PL40 | ML830 .

E MDPNNZE! 1

SNEEH a: 23
@L L1\[27.5°L ‘
W
FHMm62.5°

MDPNN 1616H11 16 | 16 |100|31.5| 16 8 PL20 o
2020K11 20 | 20 |[125| 33 | 20 | 10 | DN..1104.. |[CTM513|SD1103 PL30 HL2114 °
2525M11 25 | 25 |150| 33 | 25 |12.5 o
1616H15 32 | 32 |170(31.5] 32 8 ML625 o
2020K15 25 | 25 |150| 39 | 25 | 10 | DN..1504.. SD1506| PL25 o
2525M15 32 | 32 |170| 40 | 32 [12.5| DN..1506.. CTMB19 SD1504| PL30 HL2114 o
3232P15 32 | 32 |170| 42 | 32 | 16 [

E MDJNE!

SPEZEH
T B93°

MDJNR/L 1616H11 16 | 16 | 100|31.5| 16 | 20 PL20
2020K11 20 | 20 [125| 33 | 20 | 25 | DN..1104.. |CTM513| SD1103 PL30
2525M11 25 | 25 |150| 33 | 25 | 32
1616H15 32 | 32 |[170|31.5| 32 | 20
2020K15 25 | 25 [150| 39 | 25 | 25 | DN..1504.. CTM619 SD1506| PL25
2525M15 32 | 32 [170| 40 | 32 | 32 | DN..1506.. SD1504| PL30
3232P15 32 | 32 |170] 42 | 32 | 40

ML625

[ ] [ ]
HL2114|® e

[ ] [ ]

] [ )

[ ] [ ]
HL2114

(] [ )

[ ] [ )

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

m MDQNH!
ShE F &l

MDQNR/L 1616H11 16 | 16 |100|31.5| 16 | 20 PL20 e o
2020K11 20 | 20 |[125| 33 | 20 | 25 | DN..1104.. |CTM513|SD1103 o o
PL30 HL2114
2525M11 | 25 | 25 |150| 33 | 25 | 32 o o
1616H15 | 32 | 32 | 170|31.5| 32 | 20 ML625 o o
2020K15 | 25 | 25 |150| 39 | 25 | 25 | DN..1504.. SD1506| PL25 o o
2525M15 | 32 | 32 [170| 40 | 32 | 32 | DN..1506.. CTM619 SD1504| PL30 HL2t14 o o
3232P15 32 | 32 |170] 42 | 32 | 40 o o

m MSBN#!
SMEI %

d e |

MSBNR/L 1616H12 | 16 | 16 |100| 32 | 16 | 13

2020K12 | 20 | 20 [125| 32 | 20 | 17 PL25
2525M12 | 25 | 25 | 150| 32 | 25 | 22 SN..1204.. |CTM617|MS1204 PL30 ML625 | HL1814
3232P12 | 32 | 32 |170| 32 | 32 | 27
3232P19 | 32 | 32 |170| 37 | 32 | 27

4040R19 | 40 | 40 | 200| 40 | 40 | 35

SN..1906.. [CTM1022/ MS1904| PL40 | ML830 | HL2217

O Ole @ @ o
O O|le @ @ @

B MSDNN2!
ShE ZEH

Ehma5°

1616H12 o 0
:g:g:\(ﬁz gg gg 122 gg gg 112(_)5 SN..1204.. |CTM617|MS1204 Etgg ML625 | HL1814| o | ¢
3232P12 | 32 | 32 |170| 35 | 32 | 16 ol
2222?."1155 ;232 g: 1?8 ig gg 112é5 SN..1506.. |CTM822| MS1504 Etig ML830 | HL2217 | o |
2(2)2(2);12 2(2) ig ;(7)8 jg ig ;g SN..1906.. |CTM1022 MS1904] PL40 | ML830 | HL2217 | o | o

B MSKNZ!
ENEES

MSKNR/L 1616H12 D
222231122 Sg gg 12(5) gg gg ig SN..1204.. |CTM617| MS1204 :ztgg ML625 | HL1814 | o | o
3232P12 | 32 | 32 |170] 35 | 32 | 40 ol
22222"1155 gg gg 138 ig gg ig SN..1506.. |CTM822| MS1504 Etig ML830 | HL2217 | 0 {2
23232199 2(2) 2(2) ;38 ig 2(2) gg SN..1906.. |CTM1022) MS1904| PL40 | ML830 | HL2217 | o | o

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

H MSRNE!
ShE F &l

MSRNR/L 1616H12 16 | 16 35 | 16 LA
2020K12 20 | 20 [125| 35 | 20 | 25 PL25 L
2525M12 | 25 | 25 | 150 | 35 | 25 | 32 SN..1204.. |CTM617|MS1204 PL30 ML625 | HL1814 | i o
3232P12 32 | 32 |170| 35 | 32 | 40 ®|°
2525M15 | 25 | 25 |150| 40 | 25 | 32 PL30 o| o
3232P15 35 | 32 [170| 40 | 32 | 40 SN..1506.. |CTM822|MS1504 PL40 ML830 | HL2217 | | o
3232P19 32 32 170 40 32 | 40 SERY
4040R19 200 40 | 50 SN..1906.. |CTM1022| MS1904| PL40 | ML830 | HL2217 ol ®

PG F

5hEIZFH )

. a5

MSSNR/L 1616H12 16 | 16 |100| 35 | 16 | 20 LI
2020K12 20 | 20 |125]| 35 | 20 | 25 PL25 o | o
2525M12 o5 | 25 | 150| 35 | 25 | 32 SN..1204.. |CTM617| MS1204 PL30 ML625 | HL1814 ol e
3232P12 32 | 32 |170| 35 | 32 | 40 e o
2525M15 25 | 25 |150| 40 | 25 | 32 PL30 o] o
3232P15 35 | 32 |170| 40 | 32 | 40 SN..1506.. |CTM822| MS1504 PL40 ML830 | HL2217 e~
3232P19 32 32 170 40 32 | 40 [elNe)
4040R19 40 200 40 | 50 SN..1906.. |CTM1022| MS1904| PL40 ML830 | HL2217

B WTJNE! — -

EH .. mm
M | 3°

WTJNR/L 1616H16
2020K16
2525M16
3232P16

FiHMAI3°

TN..1604..

HE MTJNE
SpEZEH

MTJNR/L 1616H16
2020K16 20 | 20 |[125| 28 | 20 | 25 PL20
2525M16 | 25 | 25 | 150| 30 | 25 | 32 TN..1604.. |[CTM513| ST1603 PL30 ML625 | HL1814
3232P16 32 | 32 |[170| 30 | 32 | 40
2525M22 | 25 | 25 |150| 36 | 25 | 32 PL25
3232P22 32 | 32 [170| 36 | 32 | 40 | TN..2204.. |CTM617| ST2204 PL40 ML830 | HL1917
4040R22 40 | 40 |200) 40 | 32 | 50

OO0 O e e o0 o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H WTQONH!
ShEEH

WTQNR/L 2020K16
2525M16
3232P16

FHMA105°

E MTQNE
ShE F &l

FHMm105°

]

MTQNR/L 1616H16 o 0
2020K16 20 | 20 |125| 28 | 20 | 25 PL20 L
2525M16 o5 | 25 | 150 | 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 ML625 | HL1814 ol e
3232P16 32 | 32 |170| 30 | 32 | 40 o o
2525M22 25 | 25 |150| 36 | 25 | 32 PL25 o| o
3232P22 | 32 | 32 |170] 36 | 32 | 40 TN..2204.. |CTM617| ST2204 PL40 ML830 | HL1917 ®l®

H MTFNE!

ShEZEH

MTFNR/L 1616H16 K]
2020K16 20 | 20 |125| 28 | 20 | 25 PL20 LI
2525M16 o5 | 25 | 150 | 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 ML625 | HL1814 ol e
3232P16 32 | 32 |170| 30 | 32 | 40 LI
2525M22 25 | 25 |150| 36 | 25 | 32 PL25 o| o
3232P22 | 32 | 32 |170] 36 | 32 | 40 TN..2204.. |CTM617| ST2204 PL40 ML830 | HL1917 N

B MTGNE!

SNEIZ I

MTGNR/L 1616H16
2020K16
2525M16
3232P16
2525M22
3232P22

25
32

32
40

FwmB1°

TN..1604..

CTM513

ST1603

PL20
PL30

HL1814

TN..2204..

CTM617

ST2204

PL25
PL40

HL1917

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

H MTBNE!
SNEZE I

FRMA75°

MTBNR/L 1616H16 16 | 16 |100| 28 | 16 |15.5
2020K16 | 20 | 20 |125| 28 | 20 |15.5| TN..1604.. |[CTM513| ST1603 ML625 |HL1814 | e | @
2525M16 | 25 | 25 | 150| 30 | 25 |20.5

H WTBN#!
SMEIZEH

WTBNR/L 1616H16 | 16 | 16 | 100|31.5| 16 |15.5 ol e
2020K16 | 20 | 20 |125| 33 | 20 |15.5 PL20 oo
2525M16 | 25 | 25 | 150 | 33 | 25 |20.5 TN..1604.. |CTM515-T| ST1603 PL30 ML625 |[HLT-16 ol e

oo

3232P16 ' 32 | 32 |170| 33 | 32 |27.5

m MTENNZ e E
R -2 I

1616H16 16 16 | 100 | 30 16 | 20 o @
2020K16 20 | 20 |125| 28 | 20 | 25 PL20 o | o
2525M16 | 25 | 25 | 150 | 30 | 25 | 32 TN..1604.. |CTM513| ST1603 PL30 ML625 | HL1814 ol e
3232P16 32 | 32 |170| 30 | 32 | 40 e o
2525M22 | 25 | 25 |150| 36 | 25 | 32 PL25 o|o
3232P22 35 | 32 1170 36 | 32 | 40 TN..2204.. |[CTM617| ST2204 PL40 ML830 | HL1917 ol ®
JTEN i —
QL L1 N "‘
60" 10°
s — R
WTENN 2020K16 125
2525M16 | 25 | 25 |150| 36 | 25 |12.5| TN..1604.. |CT515-T| ST1603 L4.0 M5x23 |HLT-16| e | @
3232P16 | 32 32 |170| 36 | 32 16 . o @

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

E MVJNE!
ShEZEH

MVJNR/L 1616H16
2020K16
2525M16
3232P16

VN..1604..

E MVQNE!
SpEZEH
272‘;
TRE175

MVQNR/L1616H16 | 16 | 16 |100| 30 | 16 | 20 L
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 L

2525M16 | 25 | 25 | 150 | 30 | 25 | 32 VN..1604.. |CTM513| SV1603 PL30 ML625 | HL2414 | 11

oo

3232P16 | 32 | 32 |170| 30 | 32 | 40

HE MVUNZ!
ShE F &l

HE MVVNE!
SPEZ I

MVVNN 1616H16 16 | 16 |100| 30 | 16 | 10 oo
2020K16 20 | 20 |125| 28 | 20 | 10 PL20 L
2525M16 o5 | 25 |150| 30 | 25 |12.5 VN..1604.. |CTM513| SV1603 PL30 ML625 | HL2414 ol e
3232P16 32 | 32 |170] 30 | 32 | 16 oo

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

m WWLNHE
ENEE

FRAED —

WWLNR/L 1616H08
2020K08
2525M08
3232P08 |

WN..0804.. |CT618-W| SW0804

E MWLNE!
ShEZEH

FHmB5°

MWLNR/L 1616H06 PL20 oo
2020K06 | 20 | 20 |125| 33 | 20 | 25 | WN..0604.. [CTM513| SW0603 PL30 HL1814 | e | ®
2525M06 | 25 | 25 | 150| 33 | 25 | 32 oo
1616H08 | 16 | 16 | 100 |31.5] 16 | 20 ML625 oo
2020K08 | 20 | 20 |125| 39 | 20 | 25 PL25 oo
2525M08| 25 | 25 | 150| 40 | 25 | 32 WN..0804.. CTM617| SW0804 PL30 HL1814 | | o
3232P08 | 32 | 32 |170] 42 | 32 | 40 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H SCLCH!
SPEIZEHI

FIRAS

SCLCR/L 0808F06 | 08 | 08 | 80 | 10 o | o
1010H06 | 10 | 10 | 100 | 12 | 10 | 12 | ©C-0602. T8 | M25x7 | o | o
1212H09 | 12 | 12 | 100 | 18 | 12 | 16 o | o
1616H09 | 16 | 16 | 100 | 18 | 16 | 20 o | o
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T8. T15 | Maxio
2525M09 | 25 | 25 | 150 | 24 | 25 | 32 S
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o | o
2525M12 25 25 150 | 26 | 25 | 32 | CC..1204.. T20 | M5x12 | o | o
3232P12 170 | 28 | 32 | 40 o | o
m SCKCH!
hepa e 1}

FIRATS

0

SCKCR/L 1212H09 | 12 | 12 | 100 e | o
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 o | o
2020K09 | 20 | 20 | 125 | 23 | 20 | 25 | CC-09T8. T15 | Max10 Sy
2525M09 | 25 | 25 | 150 | 23 | 25 | 32 S
2020K12 20 20 125 | 23 | 20 | 25 o | o
2525M12 150 | 25 | 25 | a2 | CC-1204. Y

B SCFCH!
Sore Fo—

FEA1°

SCFCR/L 1212H06

12 12 100 16

CC..0602..

[ ] [ ]
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 N
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 | CC-09T8. T15 | Max10 =
2525M12 25 25 150 | 25 | 25 | 32 o | o
3232P12 170 | 25 | 32 | a0 | CC-1204. 2omm MEE12 T,
H SCMCNH!
ShEIZE I

FRA50°

SCMCN 1010H06 10 | 10 | 100 | 13 | 10 | 5 CC..0602.. T8 o | o
1212H09 12 | 12 | 100 | 18 | 12 | 6 SR
1616H09 16 | 16 | 100 | 18 | 16 | 8 o | o
2020K09 20 | 20 | 125 | 18 | 20 | 10 | ©CC-09T3. T15 | MAX10 |y
2525M09 25 | 25 | 150 | 18 | 25 | 12.5 o | o
2020K12 20 | 20 | 125 | 23 | 20 | 20 510
2525M12 25 | 25 | 150 | 23 | 25 | 125 | CC-1204. T20 | M5x12 | | o

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

B SCMCN-100%!
SMEIZE A

FRAE40°

SCMCN 1010H06-100 5 CC..0602..
1212H09-100 12 12 100 18 12 6
8

1616H09-100 16 16 100 18 16

2020K09-100 20 20 125 18 20 10 CC..09T3.. 5 M4>10
2525M09-100| 25 25 150 18 25 12.5
2020K12-100 | 20 20 125 23 20 20 CC..1204.. T20 M5 x 12

2525M12-100| 25 25 150 23 25 12.5

m SCBCH!
ENEES

SCBCR/L 2020K09
2525M09 25 25 150 12 25 22
2020K12 20 20 125 16 20 17
2525M12 25 25 150 16 25 22

CC..09T3.. T15 M4 x 10

CC..1204.. T20 M5 x 12

B SCACH!
SpEZEH

SCACR/L 0808K06 8 8 o | o
1010K06 | 10 | 10 | 125 | 10 | 10 | 10 | CC--0606.. T8 M2.5x7 | o | o
1212K09 | 12 | 12 | 125 | 13 | 12 | 12 o | o
1616K09 | 16 | 16 | 125 | 13 | 16 | 16 | CC-09T3. T1S | MAX10 iy

m SDJCEH!
ShEIZEH

FRAF

SDJCR/L 1010H07 10 10 100 14 10 12
1212H07 12 12 100 14 12 16 DC..0702.. T8 M2.5x7
1616H07 16 16 100 14 16 20
1212H11 12 12 100 20 12 16
1616H11 16 16 100 20 16 20
2020K11 20 20 125 20 20 25
2525M11 25 25 150 22 25 32
3232P11 32 32 170 23 32 40
4040R11 40 40 200 25 40 50

DC..11T3.. T15 M4 x 10

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m SDACHE
ShEIZEH

FRA0°

SDACR/L 0808HO7 | 8 8 | 100 | 15 | 8 8 e | o
1010H07 | 10 | 10 | 100 | 15 | 10 | 10 | DC..0702.. T8 M2.5x7 | o |
1212H07 | 12 | 12 | 100 | 15 | 12 | 12 o | o
1212H11 | 12 | 12 | 100 | 22 | 12 | 12 o | o
1616H11 | 16 | 16 | 100 | 22 | 16 | 16 o | o
2020K11 | 20 | 20 | 125 | 22 | 20 | 20 | PC-11TS. TI5 | Max10 sy
2525M11| 25 | 25 | 150 | 22 | 25 | 25 o | e

m SDFC#
SMEIZEH

FFEAo1°

SDFCR/L 1212H07 100 DC..0702.. T8 M2.5x 7
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 B e
2020K11 | 20 | 20 | 125 | 14 | 20 | 25 | DC-11T3. TI5 | Max10 = 7y

Em SDQCH!

ShEZEH

FHMA107.5°

SDQCR/L 1010H07 | 10 | 10 | 100 | 13 | 10 | 12 e | o
1212H07 | 12 | 12 | 100 | 13 | 12 | 16 | DC-0702. T8 M2.5x7 | o | o
1212H11 | 12 | 12 | 100 | 14 | 12 | 16 e | o
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 B .
2020K11 | 20 | 20 | 125 | 16 | 20 | 25 | DPC-11T3. & N A I
2525M11 | 25 | 25 | 150 | 20 | 25 | a2 o .
m SDNCN3!
SPEIZEHI

FHM62.5°

SDNCN 1010H07 10 | 10 | 100 | 14 | 10 | 5 e | o
1212H07 12 | 12 | 100 | 14 | 12 6 DC..0702.. T8 M2.5x7 | o | o
1212H11 12 | 12 | 100 | 21 | 12 | 6 o | o
1616H11 16 | 16 | 100 | 21 | 16 | 8 DC..1173.. T15 | M4x10 | o | e
2020K11 20 | 20 | 125 | 21 | 20 | 10 o | o

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

m SSBCH!
ENEES

SSBCR/L 1212H09 | 12 | 12 | 100 | 14 | 12 | 95 e | o
1616H09 | 16 | 16 | 100 | 14 | 16 | 13 o | o
2020K09 20 | 20 | 125 | 30 | 20 | 17 | SC-09T3. TI5 | Max10
2525M09 | 25 | 25 | 150 | 32 | 25 | 22 R
2020K12 | 20 | 20 | 125 | 30 | 20 | 17 | SC..1204.. T20 | M5x12 | e | e

B SSKCH!
SpEFEH

FRA75°

SSKCR/L 1616H09 | 16 | 16 | 100 | 20 | 16 | 20
2020K09 | 20 | 20 | 125 | 25 | 20 | 25 SC..09T3.. T15 Max10 | o | o

B SSSCH!
ENEES
FiRf45

SSSCR/L 1616H09 12 12 100 16

2020K09 16 | 16 | 125 | 18 | 20 | 25 SC..09T3.. T15 Max10 | o | o
2525M12 | 25 | 25 | 150 | 25 | 25 | 32 SC..1204.. T20 M5x12 | o |
m SSDCN#!
ShEIZEH
FRAEL5°

SSDCN 1212H09 12 12 100 16 12 6 ° °
1616H09 16 16 100 16 16 8 SC..09T3.. T15 M4 x 10 o °
2020K09 | 20 20 125 16 20 10 L o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B STFCE!
ShEIZE

M2.2x6

STFCR/L 1010H09 10 10 100 12 10 12 TC..0902.. T6 [ °
1212H11 12 12 100 16 12 16 ° °
1616H11 16 16 100 16 16 16 TC..1102.. T8 M2.5x7 ° °
1616H16 16 16 100 16 16 20 ° °
2020K16 20 20 125 22 20 25 TC..16T3.. T15 M4 x10 ° °
2525M16 25 25 150 22 25 32 ° °

B STGCH!
SNEZEH

4

FHA1°

%

LS
91‘;

STGCR/L 0808H03 | 8 8 | 100 | 10 | 8 10 o | o
1010H09 | 10 | 10 | 100 | 12 | 10 | 12 | T1C-0902. 16 M2.2x6 g
1212H11 | 12 | 12 | 100 | 16 | 12 | 16 o | o
1616H11 | 16 | 16 | 100 | 20 | 12 | 20 | 1C-1102. 8 M25x7 1 o | o
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 o | o
2525M16 | 25 | 25 | 150 | 22 | 20 | 32 | TC..16T3.. TI5 | M4x10 | o |
3232P16 | 32 | 82 | 170 | 22 | 25 | 40 o | o
m STWCH! g

5hEZH

&
| % !
ERA60°

STWCR/L 1212H11 | 12 | 12 | 100 | 8 | 12 | 153 o | o
1616H11 | 16 | 16 | 100 | 8 | 16 | 19.3 o | o
2020611 | 20 | 20 | 125 | 8 | 20 | 23.3 | 1C-1102. T8 M2.5x7 | g | o
2525M11 | 25 | 25 | 150 | 8 | 25 | 28.3 o | o
1616H16 | 16 | 16 | 100 | 12 | 16 | 21 o | o
2020K16 | 20 | 20 | 125 | 12 | 20 | 26 N
2525M16 | 25 | 25 | 150 | 12 | 25 | 31 | 1C-16T3. T15 | Max10 oy
3232P16 | 32 | 32 | 170 | 12 | 32 | 38 N

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m SVJB(C)R/LE!
ShEIZEH

FiRfo3 Be

SVJ-R/L1616H16 16| 16| 100| 32 | 16 | 20 o | o
2020K16 20| 20| 125/ 32| 20 | 25 | VC.1604.. o | o
2525M16 25| 25| 150/ 32 | 25 | 32 | VB..1604.. TS M0 1 g 1,
3232P16 | 32| 32| 170) 40 | 32 | 40 o |

H SVVB(C)NE!
SMEIZE

FRFA72.5°

SVV-N 1616H11 16 | 16 | 100 | 24 | 16 | 8 o | o
2020K11 20 | 20 | 125 | 24 | 20 | 10 \\jg::}]gg:: T8 M2.5x7 | o |
2525M11 25 | 25 | 150 | 24 | 25 | 12.5 o | o
1616H16 16 | 16 | 100 | 34 | 16 | 8 o | o
2020K16 20 | 20 | 125 | 34 | 20 | 10 | VC..1604.. o | o
2525M16 25 | 25 | 150 | 34 | 25 | 12.5 | VB..1604.. TI5 ) Max10 o)
3232P16 32 | 32 | 170 | 34 | 32 | 16 o | o

m SVQB(C)R/LE!
SMEIE H)

FEA117.5°

SVQ-R/L 1616H16 16 16 100 35 16 20
2020K16 20 20 125 35 20 25 VC..1604..
2525M16 25 25 150 35 25 32 VB..1604..
3232P16 | 32 32 170 35 32 40

T15 M4 x 10

W SVUB(C)R/LE!
SMEIE H)

FiRm5°

SVU-R/L 1616H11 16 16 100 12 16 20 VC..1103..
2020K11 16 16 125 16 16 25 VB..1103..

T8 M2.5x7

2525M16 25 25 150 16 25 32 VC..1604..

3232P16 | 32 | 32 | 170 | 16 | 32 | 40 | VB..1604.. TS5 | M4x10

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m SRACR/LE
5hEIZE Al

SRACR/L 1616H08 16 16 100 16 16 16.5
2020K08 20 20 125 16 20 20.5 RC..0803.. T8 M3 x 8
2525M08 25 25 150 16 25 25.5

2020K10 20 20 125 | 20.3 25 20.4

2525M10 | 25 | 25 | 150 | 20.3 | 25 | 25.4 | HC-10T3. T15 | M4x10

B SRGCR/LE
ShEIZFH

SRGCR/L 1212H05 12 | 12 | 100 | 95 | 12 | 16 o | o
1616H05 16 | 16 | 100 | 95 | 16 | 20 RC..0502.. T6 M2.2x6 | o | o
2020K05 20 | 20 | 125 | 112 | 20 | 25 o | o
2525M05 | 25 | 25 | 150 | 14.7 | 25 | 32 o | o
1212H06 12 | 12 | 100 | 10 | 12 | 16 o | o
1616H06 16 | 16 | 100 | 10 | 16 | 20 o | o
2020K06 20 | 20 | 125 | 12 | 20 | 25 RC..0602.. 8 M2.5x6 | o | o
2525M06 | 25 | 25 | 150 | 15 | 25 | 32 o | o
1616H08 16 | 16 | 100 | 11 16 | 20 o | o
2020K08 20 | 20 | 125 | 12.7 | 20 | 25 | RC..0803.. T8 M3x8 | o | e
2525M08 | 25 | 25 | 150 | 16.2 | 25 | 32 o | o
1616H10 16 | 16 | 100 | 11 16 | 20 o | o
2020K10 20 | 20 | 125 | 12.7 | 20 | 25 RC..10T3.. T8 M4x10 | o | e
2525M10 | 25 | 25 | 150 | 16.2 | 25 | 32 o | o

H SRDCNH!
ShEZE )

b ]

SRDCN 1616H08 16 16 100 16 16 8 ° °
2020K08 20 20 125 16 20 10 RC..0803.. T8 M3 x 8 ° °
2525M08 25 25 150 16 25 12.5 ° 4
1010H10 10 10 100 | 20.3 10 5 (] °
1616H10 16 16 100 | 20.3 16 8 ° °
2020K10 20 20 125 | 20.3 20 10 RC..10T3.. T15 M4 x10 ° °
2525M10 25 25 150 | 20.3 25 12.5 ° °
3232P10 32 32 170 | 20.3 32 16 ° °

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

S 12 M-S T F P R-11

1 2 3 4 5 6 7 8 9
Type of Bar Bar Diameter Bar Length M om(teitr:]; (Ijngfen Insert Shape L%aodriﬁggé:?f Rglfi(lerf]é\er;?le Hand of Bar Lengtfflzg;gutting
o Type of Bar e Bar Length G Method of Mounting Insert
v 8 :
“A” Steel with coolant hole
“E” Carbide bar with fixed _ length(L) (mm)
steel head and coolant hole ﬁ H 100
“g,, gtae ZK:E::E nk © % Top clamping Top and hole clamping
“X” Special type }{ M 150
N 160
L 180
Bar Dlameter Q
9 R 200
S 250 Top and hole clamping Hole clamping
T 300 M P
U 350
V 400
S t W 450
Y 500 Screw on
S
~1 —
e Insert Shape e Lead Angle of Boring Bar 0 Relief Angle of Insert
: : : STTTF])
. 90° | B
[o] [0/ Yl n > ;
L F 5°
LT A B | e
u K 7
<\> 108" ‘
o
Hand of Bar
e - RE 142 P

oz G‘ﬁZ

1°

9 Length of Cutting Edge
- -0

L] Lo/ 57

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

H
el

H MCLN

CEES) . Ei
) A |
FHmI5° L
L
TIEE S RS Bimensions J1K Insert J1% Shim | $4%T Pin J:T:*ﬁmp 1242 Screw | #7F Wrench Stock
Orderingeode [ op [ od| L [L1| H | f | o [O] § o3 &
S16Q-MCLNR/L12| 22 | 16 |180| 35 | 15 | 11 | 18° _—CTM613| HL1511 | ML0520| L2.5
S20R-MCLNR/L12| 25 | 20 |200] 45 | 19 | 13 | 15° 125
S25S-MCLNR/L12| 32 | 25 |250| 45 | 25 |16.5] 12° CTM613 | HL1810 | MLO620 | 57
S32T-MCLNR/L12| 40 | 32 |300| 50 | 30 |22.5| 17°| CN..1204.. ]
S40T-MCLNR/L12| 50 | 40 |300| 55 | 38 | 26 | 15° MC1204|CTM617 | HL1814 | MLo625 | 125

S50U-MCLNR/L12| 60 | 50 |350| 55 | 48 | 31 | 12°

S40T-MCLNR/L16| 50 | 40 |300| 60 | 38 | 26 | 15°
S50U-MCLNR/L16| 60 | 50 |[350| 60 | 48 | 31 | 12° | CN..1606.. |MC1604|CTM822| HL2217 | ML0830 |L3.0/L4.0
S60V-MCLNR/L16| 70 | 60 |400| 60 | 58 | 36 | 10°

e ® 0o 06/ 06 0 0 0 0|
e ® 0 060 06 0 0 0 0|

S50U-MCLNR/L19| 60 | 50 [350| 70 | 48 | 31 | 12°

S60V-MCLNR/L19| 70 | 60 |400| 70 | 58 | 36 | 10° CN..1906.. |MC1904 |CTM1022| HL2217 | MLO830 |L3.0/L4.0

H MCKN e

CHED) = Et
s i 5° ‘
FRATE g ! - |
- —e—
A e R~} Dimensions J1E Insert J)%4 Shim | $4%T Pin Effﬁmp 242 Screw | 73 Wrench Stock
Orderingeode [ op [ od| L [ L1]| H | f | o o [O] § & ﬁ R|L
S20R-MCKNR/L12| 26 | 20 | 200| 45 | 19 | 14 | 15° 125 ||
$258-MCKNR/L12| 32 | 25 |250| 45 | 24 [16.512°| _ .o CTM613| HL1810 | MLO620 | |37y | gl e
S32T-MCKNR/L12| 40 | 32 | 300| 50 | 30 |22.5| 17° 1204 d o o
S40T-MCKNR/L12| 50 | 40 |300| 55 | 38 | 26 | 15° MC1204| CTM617 | HL1814 | MLO625 | 23 | o | @

S50U-MCKNR/L12| 60 | 50 | 350| 70 | 48 | 35 | 12° '

H MCWN
RALE) = . “
ERETS | oo 9 -1 - o
509 ° 50°) 14 ‘
of
\ _
TR e R~} Dimensions J1K Insert J1#.Shim | $4%7 Pin E’fﬁmp 4242 Screw | #%F Wrench Stock
Ordering code obD|od| L | L1 H]| ]« ° @ § (7] § ﬁ R|L
S20R-MCWNR/L12| 30 | 20 | 200 45 | 19 | 17 | 15° 125 ||
$25S-MCWNR/L12| 35 | 25 |250| 45 | 24 [19.5/ 12°| CTM613| HL1810 | MLOB20 | |55 ||
$32T-MCWNR/L12| 42 | 32 |300| 50 | 30 |23.5| 17° ShE0as 25 ||
S40T-MCWNR/L12| 50 | 40 |300| 55 | 38 | 27 | 15° MC1204 [CTME17 HIL1BI4 | MI0S2S | 50  |EEEE
MTJN ¢ . Sr=umsssmsm=N \VTUN i em—
y=pdl ¥ E g e—
AAED KN i | e L
| m—— o
493 w5 t a
TEE S RS Biiensians J1K Insert J1% Shim | $4%T Pin Etﬁmp #2842 Screw | #F Wrench Stock
Ordering code ob|od| L L[ H] [ a @ @ § (7] § R|L
S20R-MTJNR/L16 | 25 | 20 | 200 40 | 19 |12.5] 15° 25 |®|®
S25S-MTUNR/L16 | 32 | 25 250 45 | 24 | 16 | 12°| _ . CTM511 HL1810 | MLOB20 | 575 | o | o
S32T-MTJNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 17° ~1604.. 25 ||
S40U-MTJINR/L16 | 50 | 40 |350| 55 | 38 | 27 | 15° MT1603 | CTM513| HL1814 | MLOB2S | |57 | o | o
S25S_WTUNR/L16 | 32 | 25 |250] 36 | 23 | 17 | 12° oo
S32T-WTUNR/L16 | 40 | 32 |300| 46 | 30 |22.5 17° orvetst | HLT16 | M x 23| 125 | @ |®
S40U-WTUNR/L16| 45 | 40 |350| 56 | 38 |26.5 15°| 11604 | yT1603 140 | o | o
S50W-WTUNR/L16| 55 | 50 | 450| 66 | 48 |29.5| 15° elo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

® MTFN

D) € | reEeEssm—
e . |
o
TR RSF Bifansions J1H Insert J1# Shim | $4%T Pin E’fﬁmp 4222 Screw | #F Wrench Stock
Ordering code oD| od| L L1 H f «® @ RIL
S16Q-MTFNR/L16 | 22 | 16 |180| 35 | 15 | 11 | 18° 25 | o] e
S20R-MTFNR/L16 | 25 | 20 |200| 40 | 19 | 13 | 15°| _ CTM511/ HL1810 IMLOB20 | |3y | o | o
S25S-MTENR/L16 | 31 | 25 |250| 45 | 24 |16.5] 12° - - o5 | ®°
S32T-MTFNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 17° MT1603 |CTM513| HL1814 | MLOB25 | 570 | e | e
S40T-MTFNR/L16 | 50 | 40 |300| 60 | 38 |26.5| 15°
E MITWN
CEES) Q j
FHEAE60°
iR e R ~F Dimensions T1E Insert 7)1 Shim | 44T Pin Et&mp #2842 Screw | #3F Wrench Stock
Orderingeode [ op| od| L [ L1 | H]| f | o /0\ 7 R|L
S20R-MTWNR/L16| 27 | 20 |200]| 40 | 19 | 14 | 15° 125 |o|e
S25S-MTWNR/L16| 32 | 25 |250| 45 | 24 |16.5/ 12°| TN..1604.. CTM511 HL1810 | MLOB20 | | '5'5 | g| e
S32T-MTWNR/L16| 39 | 32 [300| 54 | 30 | 20 | 17° MT1603 | CTM513| HL1814 | ML0625 | L2.51.30| ® | ®
= MTUN =H) mg = MTLN g
EEY) m EED R AN | L X
ERMI5° FmMm5°
TimE e RSF Binsisisne J1R Insert J1# Shim | $5%7 Pin E*ﬁmp 4242 Screw | #F Wrench Stock
orderingeode [ op| @d| L [ L1 | H | f | a° /0\ 7] R L
S16Q-MTUNR/L16 | 22 | 16 |180| 35 | 15 | 11 | 18° o | o
S20R-MTUNR/L16 | 25 | 20 |200| 40 | 19 |13.5] 15° CTM511 | HL1810 | ML0620 tgg oo
$255-MTUNR/L16 31 | 25 |250| 45 | 24 | 17 |12°| o, |
$32T-MTUNR/L16 41 | 32 |300| 54 | 30 [22.5| 17° - - oo
S40T-MTUNR/L16 50 | 40 |300| 60 | 38 |26.5] 15° 25 |o|e
HL1814
S50U-MTUNR/L16 | 60 | 50 | 350| 65 | 48 | 31 | 12° MT1603 | CTM513 MLOE25 | 130 | e | e
S60V-MTUNR/L16 | 70 | 60 |400| 70 | 58 | 36 | 10° ol e
S40T-MTUNR/L22 50 | 40 | 300| 60 | 38 |26.5] 15° s | °]°
S50U-MTUNR/L22 | 60 | 50 | 350 | 65 | 48 | 31 | 12° | TN..2204.. | MT2204 |CTM617| HL1917 |MLOB30 | 55 | ® | ®
$60V-MTUNR/L22 70 | 60 |400| 70 | 58 | 36 | 10° ' oo
C20R-MTUNR/L16-25 | 25 | 20 | 200 13 | 13 | 15° I
C20S-MTUNR/L16-25 | 25 | 20 |250| - | 13| 13 | 15° 25 |o|e
C25R-MTUNR/L16-32 | 32 | 25 [200| - | 24 | 17 | 12° CTM5T1 | HL1810 | MLOB20 | 57 | 4 | o
C25S-MTUNR/L16-32 | 32 | 25 [250| — | 24 | 17 | 12°| TN..1604.. oo
C32S-MTUNR/L16-40 | 40 | 32 |250| - | 30 | 20 | 17° o|o
C40S-MTUNR/L16-50 | 50 | 40 |250| - | 38 | 26 | 15° L2s |o|o
C50S-MTUNR/L16-60 | 60 | 50 |250| — | 48 | 31 | 12° MT1603 | CTMS13| HL1814 | MLOB25 | 1370 |5 | o
Hl MITLNE
S18Q-MTLNR/L16 22 [ 18 [180] 36 | 17 [12.5] 15° MLO620| L2.0 [e | e
S20R-MTLNR/L16 25 | 20 |200| 37 | 19 |13.5| 15° CTM511 | HL1810 L30 |e| e
$25S-MTLNR/L16 30 | 25 | 250| 45 | 23 | 17 | 12° | TN..1604.. MLO625| |25 | e | O
S32T-MTLNR/L16 40 | 32 1300 50 | 30 |22.5| 17° MT1603 | CTM513 | HL1814 L30 |e |0
= VITQN O T —
RILET 4 . |
R |
TIEE S RS Bimensions J1K Insert J1% Shim | #5%T Pin E*ﬁmp 4244 Screw | #F Wrench Stock
Orderingcode [ op | od| L [L1| H | f |« /0\ 3 R|L
S20R-MTQNR/L16 | 25 | 20 |200| 40 | 13 |13.5] 15° 25 | o] e
S$25S-MTQNR/L16 | 31 | 25 |250| 45 | 24 | 17 |12°| o CTM511| HL1810 IMLOB20 | |37 | o | o
S32T-MTQNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 17° - - o5 | o e
S40T-MTQNR/L16 | 50 | 40 |300| 60 | 38 |26.5| 15° MT1603 | CTM513| HL1814\ MLO625 | |37y | o | o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H MSKN
MiLETN

TRES

Ordering code

e

T e e
75 7 @,A& %l . ‘
FRATS

S20R-MSKNR/L12
S$25S-MSKNR/L12
S32T-MSKNR/L12
S40T-MSKNR/L12
S50U-MSKNR/L12

R~F Dimensions TIE Insert T2 Shim | $4%T Pin Et&mp 2 2% Screw | 375 Wrench Stock
oD|od| L |L1| H| |« & [©] § (7 R|L
32 | 20 |200| 40 | 19 | 14 | 15° o5 ||
32 | 25 |250| 45 | 24 [16.1] 12° CTMB13| HL1810 | MLOG20 | |57 | o | 4
40 | 32 |300| 50 | 30 | 22 | 17° | SN..1204.. ] oo
50 | 20 |300| 55 | 38 | 27 | 15° MS1204|CTM617| HL1814| MLOG25 | [25 | e | @

[ ] [ J

60 | 50 |350| 65 | 48 | 30 | 12°

®E MDQN —— -
Aran P nammmr—
e [ . |
o —
FHAE107.5°
e RS Bineisions J1 K Insert J1# Shim | $44T Pin E’&&mp 222 Screw | #7F Wrench Stock
Ordering code op|lod| L[| H| f]a fg @ § @ ﬁ R|L
S25S5_MDQNR/L15| 32 | 25 | 250 | 45 | 24 | 17 | 12° CTM613| HL2114 [ML0620| | ® | ®
$32T-MDQNR/L15 | 40 | 32 [300| 50 | 30 |22.5/ 17° | DN..1504.. S lele
L3.0
S40T-MDQNR/L15 | 50 | 40 |300| 60 | 38 | 27 | 15° MD1506| CTM619 HL2114 | MLO625 ol e
H VIDUN =tey
ATLER ¢ . cosEmeEmm
| ——
FRA95°
e RS Binensions J1H Insert 71 Shim | $§4T Pin Efﬁ&mp 222 Screw | #7F Wrench Stock
omeingeote  |op[oal L |1 | W] 1 |a| 22 L § & @ % R[L
S25S-MDUNR/L15| 32 | 25 |250| 45 | 24 | 16 | 12° CTM613| HL2114 [ML0620| | * | ®
$32T-MDUNR/L15 | 40 | 32 [300| 50 | 30 | 21 | 17°| DN..1504.. S lele
L3.0
S40T-MDUNR/L15 | 50 | 40 |300| 60 | 38 | 26 | 15° MD1506| CTM619 HL2114 | MLO625 ole
HE VIDWN
MILET
.
25" | e
TR s RS Bimensiens 71K Insert 71 Shim | $4%T Pin Eﬁﬁmp 4242 Screw | #73F Wrench Stock
ouerngeose [ oplod] L | L1] H | f o | A LS § (7] § % R|L
S20R-MDWNR/L11| 28 | 20 |200| 36 | 19 | 16 | 15° | DN..1104.. CTM511] HL1810 | ML0620 | L2.0/L3.0 | | ®
$25S-MDWNR/L15| 37 | 25 |250| 45 | 23 |22.5/ 12°| DN..1504.. CTM613 o| e
S32T-MDWNR/L15| 45 | 32 |300| 50 | 30 | 27 | 15° | oo [MD1504|CTM617| HL2114 | MLOG25 | 25 | o |
S40T-MDWNR/L15| 53 | 40 |300| 55 | 38 | 31 | 15° 1980 "MD1506] CTMB19 O lele
B VIDZN
MILET
FRAIS°
TERe REf#Dimensions J1H Insert J1# Shim | %7 Pin Ebﬁmp 4242 Screw | #73F Wrench Stock
Ordering code oD | ©d L L1 H f a® _,g @ § @ % R| L
S32T-MDZNR/L15 | 40 | 32 |300| 50 | 30 | 23 | 17° o5 |e|e
S40T_MDZNR/L15 | 50 | 40 |300| 55 | 38 | 27 | 150 | DN..1504.. |MD1506|CTM619| HL2114 | MLo625 | (58 | o | ¢

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

® MVQNZ!
CEES i i E
o ‘ u N ‘
+iE1175° - 5{7_
=
S25S-MVQNR/L15 | 32 | 25 | 250 | 45 | 24 | 17 | 12° CTMS11| HL2114 | MLOB25 | = | o @
S32T-MVQNR/L15 | 40 | 32 |300| 50 | 30 | 23 | 17°| VN..1604.. 0 | qle
L3,
S40T-MVQNR/L15 | 50 | 40 |300| 60 | 38 | 27 | 15° MV1603| CTM513| HL2114 | MLOG25 | L3.0 F TR ]
B MVX(J)NB =y
LEES) * Mf{
o e . |
| .
+ 45 $95° _
=
S20R-MVXNR/L16 | 27 | 20 | 200| 40 | 19 | 14 | 15° o0 || e
S25S-MVXNR/L16 | 32 | 25 250 45 | 24 | 47 12| CTM511| HL1810 |MLOB20 | 37 | o | o
S32T-MVXNR/L16 | 42 | 32 |300| 50 | 30 | 23 | 17° ~1604.. 20 |® @
S40T-MVXNR/L16 | 50 | 40 |300]| 55 | 38 | 27 | 15° MV1603 | CTM513 | HL1814 | MLOB25 | |35 | g |
H MVUNZ! e
L ¢ m=—==
N \‘L" . ‘
im0 e smm———————
=
S25S-MVUNR/L16 | 36 | 25 | 250 | 45 | 24 | 20 | 12° CTMS11 | HL2114 [ ML0625 |~ | ®
S32T-MVUNR/L16 | 42 | 32 |300| 50 | 30 | 22 | 17°| VN..1604.. 0 lele
L3,
S40T-MVUNR/L16 | 50 | 40 | 300| 55 | 38 | 26 | 15° MV1603 | CTM513 | HL2114 | MLOB25 | L3.0 1" 7y
E MVWNZ! =H-
sy ¢ o=
a 725°
. sl L |
0117‘
ERET2E _
=
S25T-MVWNR/L16| 40 | 25 | 200 | 45 | 24 | 26 | 12°| ' o0 CTM511 | HL2114 | MLOB20 | L2.0 | ® | ®
S32T-MVWNR/L16| 48 | 32 | 250| 50 | 30 | 30 | 17° 1004 01608 | CTM513 | HL2114 | ML0625| L3.0 | e | e
|| IQHV;ILNg! . 2 [ie] H WWLNE!
wLEN
o — | "
,j bt A
=45 #95 > - -
=
S16Q-MWLNR/L06 | 20 | 16 | 180 | 35 | 15 [11.0] 18° CTM511] HL1511| MLO520|L2.0/L.2.5 o | ®
S20R-MWLNR/LO6 | 24 | 20 |200| 40 | 19 |13.0| 15° | WN..0604.. 20 ||
S25S-MWLNR/LO6 | 32 | 25 |250| 45 | 23 |17.0| 12° CTM511| HL1810| MLOB20| '3 | o |
S16Q-MWLNR/L08 | 20 | 16 | 180 35 | 15 [11.0] 18° ] oo
S20R-MWLNR/LO8 | 25 | 20 | 200| 40 | 19 |13.0| 15° CTM613| HL1810 MLO620| 25 | o | o
S25S-MWLNR/L08 | 32 | 25 |250| 36 | 23 |17.0] 12° O lele
S32T-MWLNR/LO8 | 40 | 32 |300| 50 | 30 |22.0| 17° | WN..0804.. oo
S40T-MWLNR/L08 | 50 | 40 |300| 60 | 37 |27.0| 15° MWOB04| CTM617| HL1814 | MLO625| 2> | e | @
S50U-MWLNR/LO8 | 60 | 50 |350| 70 | 48 | 31 | 12° P lelo
S60V-MWLNR/L08 | 70 | 60 |400| 70 | 58 | 36 | 10° oo
u WWLNE!
S25S-WWLNR/LO8 | 32 | 25 |250] 40 | 23 | 17 | 12° oo
S32T-WWLNR/LO08 | 40 | 32 |300| 50 | 30 | 22 | 17° | \yN_ 0804 a0 | 1°
S40U-WWLNR/LO8 | 45 | 40 |350| 60 | 38 | 27 | 15° P IMwoso4| cTetew | HLW-08 M5 x 23| 120 | e | e
S50W-WWLNR/L08| 55 | 50 | 450 | 70 | 48 | 31 | 12° T lelo

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

BMSCLC /SCLP /SJLC
HALET

S07K-SCLCR/L06 9 7 . 125 | 14 - .5x5 T8

° o
S08K-SCLCR/L06 10 8 5 125 | 14 7 15° ° o
S10K-SCLCR/L06 12 10 6 125 | 14 9 13° CC..0602.. M2.5x6 T8 o o
S12M-SCLCR/L06 16 12 9 150 | 25 11 10° ° o
S$16Q-SCLCR/L06 20 16 11 180 | 32 15 8° ° o
S12M-SCLCR/L09 16 12 9 150 | 25 11 10° o o
S14N-SCLCR/L09 18 14 10 | 160 | 26 13 12° o o
S$16Q-SCLCR/L09 20 16 11 180 | 28 15 12° CC..09T3.. M4 x 8 T15 ° o
S$18Q-SCLCR/L09 22 18 12 | 180 | 28 17 8° LI
S20R-SCLCR/L09 25 20 13 | 200 | 325 | 18 8° O || O
S§25S-SCLCR/L09 32 25 17 | 250 | 45 23 6° bl
S$25S-SCLCR/L12 32 25 17 | 250 | 45 23 6° O U
S§32T-SCLCR/L12 40 32 22 | 300 | 20 30 10° CC..1204.. M5 x 12 T20 ® o
S40T-SCLCR/L12 50 40 27 | 300 | 60 37 8° O || O
S10K-SCLPR/L08 12 10 6 125 | 14 9 y e o
S12M-SCLPR/L08 14 12 7 150 | 25 11 - cP..0802.. M35 i O || O
S12M-SCLPR/L09 14 12 7 150 | 25 11 - e o
S$16Q-SCLPR/L09 18 16 9 180 | 28 15 - CP..0903.. M4 x 8 T15 ° o

| o

S20R-SCLPR/L09 22 20 11 200 | 32 -

W AL S B R T B R MR L/D> 81”E

C04G-SCLCR/L03-05 5 4 2.8 90 - - - o o
CO05H-SCLCR/L03-06 6 5 B 100 = = = CETR., e o o o
CO05H-SCLCR/L04-06 6 5 3 100 = = = o o
C06J-SCLCR/L04-07 7 6 3:5 110 - - - CC..0401.. M2.2x 3.1 T7 e o
C07J-SCLCR/L04-08 8 7 4 110 = = = [
C08K-SCLCR/L06-10 10 8 5 125 - — - e o
C10M-SCLCR/L06-12| 12 10 6 150 - - - LA
C12M-SCLCR/L06-14 | 14 12 7 150 - - - CC..0602.. M2.5x 6 T8 o | o
C12Q-SCLCR/L06-14 14 12 7 180 - - - LA
C16R-SCLCR/L06-18 18 16 9 200 - - - e | e
C12M-SCLCR/L09-14| 14 12 7 150 - - - LRI 4
C12Q-SCLCR/L09-14 14 12 7 180 - B - LA
C14M-SCLCR/L09-16| 16 14 8 150 - i - e o
C16M-SCLCR/L09-18| 18 16 9 150 - B - OO
C16R-SCLCR/L09-18 | 18 16 9 200 - - - CC..09T3.. M4 x 8 T15 °o | o
C20R-SCLCR/L09-22 | 22 20 11 | 200 - i - 0| ©
C20S-SCLCR/L09-22 | 22 20 11 | 250 - = - ® |0
C25R-SCLCR/L09-32 | 29 25 | 14.5 | 200 - - - o|°
C25S-SCLCR/L09-32 | 29 25 | 14.5 | 250 - i - °| 0
C10M-SCLPR/L08-12 | 12 10 6 150 i B - CP..0802.. M3 x5 T9 o|e
C12Q-SCLPR/L08-14 14 12 7 180 - r w e |
C12Q-SCLPR/L09-14 14 12 7 180 - - - O | O
C16R-SCLPR/L09-18 | 18 | 16 | 9 | 200 | — | - - | CP..0908.. M4 x8 15 ol
C04G-SJLCR/L03-055 | 5.5 4 |2095] 90 | 065 - = JC..0301.. M1.8x2.5 T6 o | o
LSS S BL R 7 #F (Fpols Y 7K BY)
E05H-SCLCR/L03-06 6 5 3 100 - - - CC..0301.. M1.8x2.5 T6 e | O
E06J-SCLCR/L04-07 7 6 3.5 | 110 - - - CC..0401.. M2.2x 3.1 T7 e | O
E08K-SCLCR/L06-10 10 8 5 125 - - - ® O
E10M-SCLCR/L06-12 | 12 10 6 150 - - - ® O
E12M-SCLCR/L06-14 | 14 12 7 150 - - - CC..0602.. M2.5x 6 T8 e | O
E12Q-SCLCR/L06-14 | 14 12 7 180 - - - e O
E16R-SCLCR/L06-18 18 16 9 200 - - - ® O
E12M-SCLCR/L09-14 | 14 12 7 150 - - - e O
E12Q-SCLCR/L09-14 | 14 12 7 180 - - - e O
E16R-SCLCR/L09-18 | 18 16 9 200 - - - CC..09T3.. M4 x 8 T15 e | O
E20R-SCLCR/L09-22 | 22 20 11 200 - - - ® O
11 - - - O L@

E20S-SCLCR/L09-22 | 2o 20 250

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H SCLCH®!
B 2 T i g

S07M-SCLCR/L06-A16 9 16 4.5 150 20 15 T8 e | o
S08M-SCLCR/L06-A16 10 16 5 150 20 15 - CC..0602 L)
S10M_SCLCR/L06-A16| 12 | 16 | 6 | 150 | 20 | 15 | - ~0602.. 256 5 oo
S12M-SCLCR/L06-A16 14 16 7 150 25 15 — . L)
S12M-SCLCR/L09-A16 16 16 8 150 25 15 - e | o
$140-SCLCR/L09-A16| 16 | 16 | 8 | 180 | 35 | 15 | - | ccC..097T3.. M4 x 8 T15 ol
$140-SCLCRo9/L-A16-60L | 16 | 16 | 8 | 180 | 60 | 15 - °o| o
RIS N EB = N HF

C0604H-SCLCR/L03-05-10 5 6 2.5 100 10 5.5 - e | o
COBOSH-SCLCR/L03-06-10 | 6 | 6 | 3 | 100 | 10 | 55 | - | CC-0801. | M1.8x25 T6 G
COB0K-SCLCR/L04-08-15 | 8 | 8 | 4 | 125 | 15 | 7 | - | CC.0801.. | M2.2x3.1 7 oo

B SCKCH!
AALET

S08K-SCKCR/L06 ) el e
S10K-SCKCR/L06 | 135| 10 | 6 | 125 | 22 | 9 | 12° | cC..0602.. M2.5 x 6 T8 o| o
S12M-SCKCR/L06 | 16 | 12 | 7 | 150 | 23 | 11 | 10° ol o
S12M-SCKCR/L09 | 14 | 12 | 8 | 150 | 30 | 11 | 12° o| e
S14N-SCKCR/LO9 | 15 | 14 | 8 | 160 | 30 | 13 | 10° o| e
S16Q-SCKCR/L09 | 20 | 15 | 9.5 | 180 | 30 | 15 | 10° | cC..09T3.. M4 x 8 T15 oo
S20R-SCKCR/L09 | 25 | 20 | 11.5| 200 | 35 | 19 | 8° o| e
S25S-SCKCR/L09 | 31 | 25 | 14 | 250 | 40 | 24 | 6° ol e
== ==
W EBRLESENBEE T4 BRI R L/D> 8%

CO8K-SCKCR/L06 | 10 | 8 | 55 | 125 - | - |- oo
C10K-SCKCR/LO6 | 13 | 10 | 6 | 125 | - | - |- CC..0602.. M2.5 x 6 T8 K
C12M-SCKCR/LO6 | 16 | 12 | 7 | 150 | - | - |- oo
C12M-SCKCR/L09 | 16 | 12 | 7 | 150 | - | - | - oo
C16Q-SCKCR/L09 | 20 | 16 | 9 | 180 | - | - |- oo
C20R-SCKCR/LO9 | 24 | 20 | 11.5| 200 | - | - |- CC..09T3.. M4 x8 15 oo
C20S-SCKCR/L09 24 20 | 11.5 | 250 - - - O || O
SCZCHl

RILETN

EXCh- el

S08K-SCZCR/LO6 | 12 | 8 | 65 | 125 | 25 | 7 | 18° oo
S10K-SCZCR/LO6 | 14 | 10 | 7.5 | 125 | 27 | 9 | 12° o|e
S12M-SCZCR/LO6 | 16 | 12 | 8.5 | 150 | 30 | 11 | 10° | CC--0602. M2.5x6 T8 oo
S16Q-SCZCR/LO6 | 20 | 16 | 10.5| 180 | 35 | 15 | 18° oo
S16Q-SCZCR/L09 | 21 | 16 | 11.5| 180 | 35 | 15 | 10° o| o
S20R-SCZCR/L09 | 25 | 20 |13.5| 200 | 40 | 19 | 8 | cCC..097T3.. M4 x 8 T15 ol
S25S-SCZCR/LOS | 32 | 25 | 16 | 250 | 42 | 24 | 6° ol e
== ==
B RIS R NI IR R L/D> 84&
C04X-SJZCR/L03-065 | 6.5 | 4 | 4 | 93 | 4.8 | \ | JC..0301.. M1.8x2.5 | T6 o o]

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H SDUCH!
CETED))

E R FH5°

S08K-SDUCR/L07 13 8 | 6.5 | 125 | 20 7 12° o | o
S10K-SDUCR/L07 15 | 10 8 | 125 | 25 9 10° | DC..0702.. M2.5x6 T8 o e
S12M-SDUCR/L0O7 | 17 | 12 9 | 150 | 28 | 11 8° o
S16Q-SDUCR/LO7 | 22 | 16 | 11 | 180 | 30 | 15 6° oo
S16Q-SDUCR/L11 | 22 | 16 | 11 | 180 | 30 | 19 6° oo
S20R-SDUCR/L11 32 | 20 | 16 | 200 | 40 | 24 6° oo
S$25S-SDUCR/L11 39 | 25 | 20 | 150 | 40 | 30 4° DC..11T3.. M4x8 5 oo
S32T-SDUCR/L11 50 | 32 | 24 | 300 | 45 | 38 4° oo
== ==
W RSB E NI BiEMR L/D> 8
C10M-SDUCR/L0O7 | 13 | 10 7 | 150 | - - - oo
C12M-SDUCR/L07 | 16 | 12 9 | 150 | - = - oo
C120-SDUCR/LO7 | 16 | 12 9 | 180 | - - - L
C14M-SDUCR/LO7 | 18 | 14 | 10 | 150 | - = - DC..0702.. M2.5x6 T8 oo
C16M-SDUCR/L07 | 20 16 11 | 150 - - - o | °
C16R-SDUCR/L07 20 16 | 11 | 200 | - - - e |
C16M-SDUCR/L11 | 20 | 16 | 11 | 150 | - - - e °
C16R-SDUCR/L11 20 16 | 11 | 200 | - — - e
C20R-SDUCR/L11 23 | 20 | 12.5 | 200 | - - ~ | DC..11T3.. M4 x 8 T15 ol e
C20S-SDUCR/L11 | 23 | 20 |12.5| 250 | - — - el
C25R-SDUCR/L11 31 25 | 16 | 200 | - - - e °
[ ) [ )

C25S-SDUCR/L11 31 25 16 | 250 = = -

m SDQCH!
ALET

S10K-SDQCR/L07 13 10 7 125 | 23 9 10°
S12M-SDQCR/L07 16 12 9 150 | 30 11 8° DC..0702.. M2.5x 6 T8
S$16Q-SDQCR/L07 20 16 | 10.5| 180 | 30 15 6°

S20R-SDQCR/L11 25 20 13 | 200 | 39 i) 6°
S§25S-SDQCR/L11 32 25 16 | 250 | 40 24 4° DC..11T3.. M4 x 8 T15
S§32T-SDQCR/L11 39 32 20 | 300 | 43 30 4°

B RSB R 7IFF BARBIR L/D> 8 45

C10M-SDQCR/L07 13 10 7 150 - - -
C12M-SDQCR/L07 16 12 ) 150 - = =
C12Q-SDQCR/L07 16 12 9 180 - - -

C14M-SDQCR/LO7 | 18 | 14 | 10 | 150 | - | - ~ | Dbe.0702.. M2.5x6 I
C16M-SDQCR/LO7 | 20 | 16 | 11 | 150 | - | - -
C16R-SDQCR/LO7 | 20 | 16 | 11 | 200 | - | - -
C16M-SDQCR/L11 | 20 | 16 | 11 | 150 | - | - -
C16R-SDQCR/L11 | 20 | 16 | 11 | 200 | - | - -
C20R-SDQCR/L11 | 23 | 20 | 13 | 200 | - | - - | e 117s. ax s

C20S-SDQCR/L11 28 20 13 | 250 - - -
C25R-SDQCR/L11 31 25 16 | 200 - - -
C25S-SDQCR/L11 31 25 16 | 250 - - -

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H SDZCH!

RILED

ERA3°

S10K-SDZCR/L07 . oo
S12M-SDZCR/L07 18 12 | 9.5 | 150 | 30 11 10° DC..0702.. M2.5x 6 T8 oo
S$16Q-SDZCR/L07 24 16 | 11.5| 180 | 30 15 8° oo
S20R-SDZCR/L11 28 20 | 14.5| 200 | 40 19 8° oo
S§25S-SDZCR/L11 34 25 17 | 250 | 45 24 6° DC..11T3.. M4 x 8 T15 o | o
S$32T-SDZCR/L11 38 32 | 20.5| 300 | 50 | 30 4° | o
B LS EBIR 14T BRI L/D> 8 (&

C10M-SDZCR/L07 14 10 | 8.5 | 150 | - - - oo
C12M-SDZCR/L07 17 12 | 10.5| 150 | - = = DC..0702.. M2.5x 6 T8 o | o
C16R-SDZCR/L07 21 16 | 12.5| 200 | - - - LI
C20R-SDZCR/L11 26 20 | 15.5| 200 | - - - o |
C20S-SDZCR/L11 26 20 | 15.5| 250 | - - - LI
C25R-SDZCR/L11 33 25 18 | 200 — — - DC..11T3.. M4 8 s oo
C25S-SDZCR/L11 33 25 18 | 250 | - - - ®| e

m SDWCH!

RILET

S12K-SDWCR/L07
S$16Q-SDWCR/L07
S20R-SDWCR/L07
S20R-SDWCR/L11
$25S-SDWCR/L11
S$32T-SDWCR/L11

19
23
27
25
32
40

12
16
20
20
25
32

10.5
12.5
14.5
14.5
17
20

150
180
200
200
250
300

*1R#E62.5°

28
30
30
40
45
50

11
5
19
19
24
30

10°
8°
6°
6°
4°
20

DC..0702..

M2.5x 6

T8

DC..11T3..

M4 x 8

T15

B SDXCH

MiLETN

F1HMA95°

S08K-SDXCR/LO7 | 10 | 8 | 5 |125| 7 | 5.5 | 12° oo
S10K-SDXCR/LO7 | 13 | 10 | 6 |125| 9 | 7 | 10° oo
S12M-SDXCR/LO7 | 16 | 12 | 7 | 150 | 11 | 8.5 | g | DC-0702. M2.5x6 8 oo
$16Q-SDXCR/LO7 | 20 | 16 | 9 | 180 | 15 | 11 | 6° oo
S16Q-SDXCR/L11 | 20 | 16 | 9 | 180 | 15 | 11 | 6° o e
S20R-SDXCR/L11 | 25 | 20 | 11.5| 200 | 19 | 13 | 6° | DC..11T3.. M4 x 10 T15 oo
$25S-SDXCR/L11 | 32 | 25 | 14 | 250 | 24 | 17 | 4° o e
[= =] [= =]
W BRILESENBE R 4T BRI L/D> 8{&
CO8K-SDXCR/LO7 | 10 | 8 | 5 | 125 | - | - - oo
C10M-SDXCR/LO7 | 13 | 10 | 6 | 150 | - | - - oo
C12M-SDXCR/LO7 | 16 | 12 | 7 | 150 | - | - _ | DC..0702.. M2.5x6 I o
C16R-SDXCR/LO7 | 20 | 16 | 9 |200| - | - - oo
C20R-SDXCR/L11 | 25 | 20 | 11.5| 200 | - | - - oo
C20S-SDXCR/L11 | 25 | 20 | 11.5| 250 | - | - - | bc. 1173, M4x10 T15 oo
C25R-SDXCR/L11 | 32 | 25 | 14 | 200 | - | - - )
C25S-SDXCR/L11 32 25 14 | 250 | - - - Ol O

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

H STUBZ#! Drmin
MILET ig
GINEDHF

S0806H-STUBR/L06 | 7 8 | 35100 | 20 | 7 | 12° K
S1006K-STUBR/LO6 | 7 | 10 | 35 | 125 | 20 | 9 | 12° o| e
S1207K-STUBR/LO6 | 8 | 12 | 4 | 125 | 25 | 11 | 1zo | 'DBGT060102 M2x4 Té ol e
S1607M-STUBR/LO6 | 8 | 16 | 4 | 150 | 25 | 15 | 12° ol
ISP E A BIEMRE L/D> 848

C06J-STUBR/L06-07 | 7 6 | 35 [110] - [ 55 ] - o[ e
C07J-STUBR/L06-08 | 8 7 4 | 110 | - 6 _ | TBGT060102 M2 x 4 T6 oo
C08K-STUBR/L06-09| 9 8 | 45 | 125 | - 7 - ol o
BRILESIME /N EB R T

C0807K-STUBR06—08 | 8 | 8 | 4 [125] 156 | 7 | - [ TBGT060102] M2x4 | T6 [ o] o]
RILESM /D ZEB R I (R K FL)

E06J-STUBR06/L-07 | 7 | 6 |35 [110] - [ 5 | - [TBGT060102] M2x4 | T6 [e]e]

N STUCH!
SETED))

S08K-STUCR/L09 | 10.5 8
S10K-STUCR/L09 | 13.5| 10
S$12M-STUCR/L09 16 12

125 | 23 7 153
125 | 24 9 13° TC..0902.. M2.2x 6 T6
150 | 27 11 10°
125 | 24 9 12°
150 | 27 11 10°
180 | 30 13 9°

S10K-STUCR/L11 | 13.5| 10
S12M-STUCR/L11 16 12
S$14Q-STUCR/L11 18 14
S$16Q-STUCR/L11 20 16 180 | 30 | 15 8°
S20R-STUCR/L11 25 | 20 200 | 35 19 6°
S25S-STUCR/L11 31 25 | 13.5| 250 | 40 | 24 4°
S20R-STUCR/L16 25 | 20 | 11.5] 200 | 40 | 19 8°
S25S-STUCR/L16 31 25 | 14 | 250 | 40 | 24 6° TC..16T3.. M4 x 10 T15
S$32T-STUCR/L16 39 32 | 17.5] 300 | 45 30 4°
LIS HBI =N Bim3E L/D> 84

TC..1102.. M2.5x 6 T8

© O NN O O

—_
AN

C08K-STUCR/L09 10 8 5 | 125 | - 7 - oo
C10M-STUCR/L09 | 12 10 6 | 150 | - 9 = oo
C12M-STUCR/LOS | 14 | 12 | 7 | 150 | - | 11 | ==k 6 o
C12Q-STUCR/L09 14 | 12 7 | 180 | - 11 = o |
C10M-STUCR/L11 | 12 10 6 | 150 | - 9 - oo
C12M-STUCR/L11 | 14 | 12 7 | 150 | - 11 - 0| O
C12Q-STUCR/L11 14 | 12 7 | 180 | - 11 - oo
C14M-STUCR/L11 16 14 8 150 — 13 - O | O
C16M-STUCR/L11 18 16 9 150 - 15 - o
C16R-STUCR/L11 18 16 9 | 200 | - 15 - TC..1102.. M2.5x6 T8 O || O
C20R-STUCR/L11 22 20 11 200 - 19 - e
C20S-STUCR/L11 22 | 20 | 11 | 250 | - 19 - e\
S25R-STUCR/L11 32 | o5 | 16 | 200 | - 24 - el
S25S-STUCR/L11 32 | 25 | 16 | 250 | - 24 - O] O
WAL SR /MZ B = I (Pl 7k L)

E08K-STUCR/L09 10 ] 5 | 125 | — 7 - TC..0902.. M2.2x 6 T6 oo
E10M-STUCR/L11 | 12 | 10 | 6 | 150 | - 9 - hl g
E12M-STUCR/L11 14 12 7 150 - 11 - oo
E12Q-STUCR/L11 14 12 7 180 - 11 - o | o
E16R_STUCR/L11 s e o | 200 | - 15 — TC..1102.. M2.5x6 T8 ol e
E20R-STUCR/L11 22 20 11 200 - 19 - e o
E20S-STUCR/L11 22 20 11 | 250 - 19 - O || O

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B STUPE!
MILET

S08K-STUPR/L09 10.5 8 5.5 125 23 7 15° e o
S10K-STUPR/L09 13.5| 10 | 6.5 | 125 | 24 9 13° TP..0902.. M2.5x 6 T8 oo
S12M-STUPR/L09 16 12 | 7.5 | 150 | 27 11 10° o | o
S10K-STUPR/L11 13.5 10 6.5 125 24 9 12° o o
S12M-STUPR/L11 16 12 | 7.5 | 150 | 27 11 10° o | o
S$14Q-STUPR/L11 18 14 | 8.5 | 180 | 30 13 9° ° o
S16Q-STUPR/L11 20 16 | 9.5 | 180 | 30 15 8° TP..1103.. M3x8 8 o | o
S20R-STUPR/L11 25 20 [ 11.5| 200 | 35 19 6° o o
S25S-STUPR/L11 31 25 14 | 250 | 40 24 4° e | o
S20R-STUPR/L16 25 20 12 | 200 | 40 19 8° L
S$25S-STUPR/L16 31 25 | 14.5| 250 | 40 24 6° TP..1603.. M4 x 8 T15 o | o
S32T-STUPR/L16 39 32 18 | 300 | 45 30 4° ® |
WAL ESHBI R NNAT BRI E L/D> 848

CO08K-STUPR/L09 10 8 5.5 | 125 - 7 - e o
C10M-STUPR/L09 12 | 10 | 6.5 | 150 | - 9 - e\
C12M-STUPR/L09 14 12 | 7.5 | 150 _ 11 _ TP..0902.. M2.5x 6 T8 ol e
C12Q-STUPR/L09 14 12 | 7.5 | 180 - 11 - O O
C10M-STUPR/L11 12 10 | 6.5 | 150 - 9 - o o
C12M-STUPR/L11 14 | 12 | 7.5 | 150 | - 11 - el
C12Q-STUPR/L11 14 12 | 7.5 | 180 - 11 - ° o
C14M-STUPR/L11 16 14 85 | 150 - 13 - ® | o
C16M-STUPR/L11 18 16 | 9.5 | 150 | - 15 - bl B
C16R-STUPR/L11 18 il 9.5 | 200 — 15 - TP..1108.. M3x8 T8 ° o
C20R-STUPR/L11 29 20 | 11.5| 200 _ 19 - L
C20S-STUPR/L11 22 20 | 11.5 | 250 - 19 - o o
S25R-STUPR/L11 32 25 | 16.5 | 200 _ 24 - L
S$25S-STUPR/L11 32 o5 | 16.5 | 250 _ 24 - e | o
RILESMAE /N EB R (R HKFL)

E08K-STUPR/L09 10 8 | 55125 | - 7 - TP..0902.. M2.5x6 18 oo
E10M-STUPR/L11 12 10 | 6.5 | 150 _ 9 - LI
E12M-STUPR/L11 14 12 | 7.5 | 150 _ 11 - o o
E12Q-STUPR/L11 14 7. 1 _ 11 - o | e
E16R_STUPR/L11 I 12 g.g 228 - _ | TP.1103.. M3x8 T15 ol
E20R-STUPR/L11 20 20 | 11.5 | 200 _ 19 - o o
E20S-STUPR/L11 22 | 20 |115]1250 | - | 19 - ol
STUP 11028!

S10K-STUPR/L1102 13.5 10 6.5 125 _ 9 - e o
S12M—STUPRIL1102 16 12 7.5 150 _ 11 - o o
S$14Q-STUPR/L1102 _ - LA
$160-STUPR/L1102 ;g 12 g:g 128 : 12 _ | TP.1102. M3x8 T15 ol o
S$25S-STUPR/L1102 21 25 14 5 | 250 _ 24 - o |

® STUP(C)&!
RILET

ZBNEDHF

S
SO7K-STUPR/LOS-A12 | 9 | 12 | 45 | 125 | 25 | 11 | 12° | G5 (o0 M2.2 %6 6
S08K-STUPR/L08-A16 | 10 | 16 | 5 | 150 | 28 | 15 | 13° e '

S08K-STUCR/L09-A12 10 12 5.5 | 125 | 28 11 15°
S08K-STUCR/L09-A16 10 16 5.5 150 28 15 10°
S10M-STUCR/L11-A16 | 12 16 6 150 | 30 15 12°
S12M-STUCR/L11-A16 | 14 16 7 150 83 15 10°

TC..0902.. M2.5x 6 T8

TC..1102.. M2.5x 6 T6

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

B STFCH!
CEED)]

S08K-STFCR/L09
S10K-STFCR/L09 13.5| 10
S12M-STFCR/L09 16 12
S10K-STFCR/L11 13.5| 10
S$12M-STFCR/L11 16 12
S$14Q-STFCR/L11 18 14 180 | 30 13 9°
S$16Q-STFCR/L11 20 16 180 | 30 15 8°
S20R-STFCR/L11 25 20 11 200 | 35 19 6°
S25S-STFCR/L11 31 25 | 13.5| 250 | 40 24 4°
S20R-STFCR/L16 25 20 | 11.5 | 200 | 40 19 8°
S§25S-STFCR/L16 31 25 14 | 250 | 40 24 6° TC..16T3.. M4 x 10 T15
S32T-STFCR/L16 39 32 | 17.5 | 300 | 45 30 4°

BRALESB R 14T B R L/D> 81&
8

125 | 24 9 13° TC..0902.. M2.2x 6 T6
150 | 27 11 10°
125 | 24 9 12°
150 | 27 11 10°

TC..1102.. M2.5x 6 T8

© 0N ONO O,

COSK-STFCR/L03 | 10 5 [125] - | 7 - oo
C10M-STFCR/LOS | 12 | 10 | 6 | 150 | - | 9 - oo
C12M-STFCR/LOS | 14 | 12 | 7 | 150 | - | 11 _ | TC..0902.. M2.2x6 T6 oo
C12Q-STFCR/LOS | 14 | 12 | 7 |180| - | 11 | - oo
C10M-STFCR/L11 | 12 | 10 | 6 | 150 | - | 9 - o e
C12M-STFCR/L11 | 14 | 12 | 7 | 150 | - | 11 | - oo
C12Q-STFCR/L11 | 14 | 12 | 7 | 180 | - | 11 | - o e
C14M-STFCR/L11 | 16 | 14 | 8 | 150 | - | 13 | - oo
C16M-STFCR/L11 | 18 | 16 | 9 | 150 | - | 15 | - o| o
C16R-STFCR/L11 | 18 | 16 | 9 |200| - | 15 | - | Tc.1102. M2.5x6 8 oo
C20R-STFCR/L11 | 22 | 20 | 11 | 200 | - | 19 | - o e
C20S-STFCR/L11 | 22 | 20 | 11 | 250 | - | 19 | - oo

m STFPH!
MILET

ERAE°

S08K-STFPR/L0S | 10.5| 8 | 55 | 125 | 23 | 7 | 15° ANe
S10K-STFPR/LO9 | 13.5| 10 | 6.5 | 125 | 24 | 9 | 13° | TP..0902.. M2.5 x 6 T8 oo
S12M-STFPR/LO9 | 16 | 12 | 7.5 | 150 | 27 | 11 | 10° S
S10K-STFPR/L11 | 13.5| 10 | 6.5 | 125 | 24 | 9 | 12° e e
S12M-STFPR/L11 | 16 | 12 | 7.5 | 150 | 27 | 11 | 10° R
S14Q-STFPR/L11 18 | 14 | 85 | 180 | 30 | 13 | o° ol e
S16Q-STFPR/L11 20 | 16 | 95 | 180 | 30 | 15 | g | TP-1103- M3 x8 T8 S
S20R-STFPR/L11 25 | 20 |11.5| 200 | 35 | 19 | 6° ol
S25S-STFPR/L11 31 | 25 | 14 | 250 | 40 | 24 | 4° e
S20R-STFPR/L16 25 | 20 | 12 | 200 | 40 | 19 | &° o| e
S25S-STFPR/L16 31 | 25 [145| 250 | 40 | 24 | 6 | TP..1603.. M4 x 8 T15 oo
S32T-STFPR/L16 39 | 32 | 18 | 300 | 45 | 30 | 4° ol o
RSB E NI BIEMR L/D> 84&

CO8K-STFPR/L09 10] 8 |55 125] - | 7 - ol e
C10M-STFPR/LO9 | 12 | 10 | 65 | 150 | - | 9 - OO
C12M-STFPR/LO9 | 14 | 12 | 7.5 | 150 | - | 11 | - | [TP-0902. M2.5x 6 T8 o| o
C12Q-STFPR/L09 14 | 12 | 75180 | - | 11| - R
C10M-STFPR/L11 | 12 | 10 | 65 | 150 | - | 9 - o| o
C12M-STFPR/L11 | 14 | 12 | 75 | 150 | - | 11 | - B
C12Q-STFPR/L11 14 | 12 | 75 | 180 | - | 11 | - ol o
C1AM-STFPR/L11 | 16 | 14 | 85 | 150 | - | 13 | - B
C16M-STFPR/L11 | 18 | 16 | 95 | 150 | - | 15 | - ol e
C16R-STFPR/L11 18 | 16 | 95 | 200| - | 15 | - | TP-1103. M3 x8 T8 oo
C20R-STFPR/L11 22 | 20 | 115|200 | - | 19 | - ol o
C20S-STFPR/L11 22 | 20 |115] 250 | - | 19 | - oo
C25S-STFPR/L16 32 25 16 250 - 24 - TP..1603.. M4 x 8 T15 LK)

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m STWCH
MILET

S08K-STWCR/L09 . TC..0902.. o| e
S10K-STWCR/L11 | 14 | 10 | 8 | 125 | 25 | 9 | 10° 3
S12M-STWCR/L11 | 16 | 12 | 9 | 150 | 30 | 11 | &° o| e
$16Q-STWCR/L11 | 20 | 16 | 11 | 180 | 30 | 15 | e | 1C-1102- M2.5x7 T8 B
S20R-STWCR/L11 | 25 | 20 | 13 | 200 | 35 | 19 | 4° oo
S20R-STWCR/L16 | 25 | 20 | 13 | 200 | 35 | 19 | 4° y - i
$25S-STWCR/L16 | 32 | 25 | 15 | 250 | 40 | 24 | 2° | 'C-16T3. 4x10 15 ole
BRILESEBE = 14T BARMR L/D> 8%

COSK-STWCR/L09 | 11 | 8 | 55 | 125 | - | 7 — ] TC..0902.. M2.2x6 T6 o e
C10M—STWCR/L11 | 14 | 10 | 8 | 150 | - | 9 - e
C12M-STWCR/L11 | 16 | 12 | 9 | 150 | - | 11 | - oo
C16R-STWCR/L11 | 20 | 16 | 11 |200| - | 16 | - | TC..1102.. M2.5x 7 T8 oo
C20R-STWCR/L11 | 25 | 20 | 13 | 200 | - | 19 | - ole
C20S-STWCR/L11 | 25 | 20 | 13 | 250 | - | 19 | - 2E

B SSSCH!
RILEN

S12M-SSSCR/L09
S$16Q-SSSCR/L09
S20R-SSSCR/L09
S$25S-SSSCR/L09
S32T-SSSCR/L09

16
22

26
32
38

12
16
20
25
32

8.5
11.5
13.5

16
19.5

150
180
200
250
300

30
35
40
40
45

11
15
19
24
30

12°
10°
80
60
40

SC..09T3..

M4 x 8

M4 x 10

T15

B SSKCH!
NILET

S$12M-SSKCR/L09

$16Q-SSKCR/L09
S20R-SSKCR/L09
S$255-SSKCR/L09

16
20
25
31

12
16
20
25

8.5
10.5
12.5

5

150
180
200
250

30
30
40
40

11
15
19
24

12°
10°
80
60

SC..09T3..

M4 x 8

M4 x 10

T15

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B SVQB(C)R/LE!
RILET]

FiRHE117.5°

$16Q-SVQ*R/L11 16 ) M2 5% 7 T8 oo
S20R-SVQ*R/L11 27 | 20 | 14 | 200 | 39 | 19 |s8°|e6°| VB..1103. : °o| o
S20R-SVQ*R/L16 27 | 20 | 14 | 200 | 50 | 19 |10°8° oo
$25S-SVQ*R/L16 32 | 25 | 16.5| 250 | 50 | 24 |8°6°| VC..1604.. M4x10 15 oo
S32T-SVQ*R/L16 41 | 32 | 225|300 | 55 | 30 |10°8°| VB..1604.. oo
S40T-SVQ*R/L16 50 | 40 | 27 | 300 | 55 | 38 |8°|6° oo
BRAL GBI = DA B =R L/D> 86

C16R-SVQ*R/L11 | 22 | 16 | 11.5] 200 | - 15 | -] -] vcC..1103.. M2.5x7 T8 oo
C20R-SVQ*R/L11 27 | 20 | 14 | 200 | - 19 | -| -| VB..1103. ] oo

R ABHCT] FiE R

HSVUB(C)R/LE
MALET]

ERM95°

$16Q-SVU*R/L11 22 16 | 12.5| 180 | 30 15 |10° 8° VC..1103..

[ ] [ ]
S20R-SVU*R/L11 27 20 14 200 32 19 |8°|6° VB..1108.. M2.5x7 T8 o | o
S20R-SVU*R/L16 31 20 20 200 50 19 |10° 8° o o
$25S-SVU*R/L16 35 | 25 | 20 | 250 | 50 | 24 |8°|6°| VC..1604.. Mdx 10 T15 oo
S32T-SVU*R/L16 42 32 | 22.5| 300 50 30 |10°| 8° VB..1604.. o | o
S40T-SVU*R/L16 51 40 27 300 55 38 |8°|6° e | o
LIS HMBIE T BIERE L/D> 84&
C16R-SVU*R/L11 | 22 16 13 200 - 15 - - VC.1103 o | o
C20R-SVU*R/L11 27 20 15 200 = 19 - - VB::1103:: M2.5x7 T8 o | e
C20S-SVU*R/L11 27 20 15 250 - 19 - - e |
C20R-SVU*R/L16 31 20 19 200 = 19 - - e o
C20S-SVU*R/L16 31 20 19 | 250 - 19 - - VC..1604.. M4 x 10 T15 LA
C25R-SVU*R/L16 35 25 20 200 - 24 - - VB..1604.. o | o
C25S-SVU*R/L16 35 25 20 250 - 24 - - o o

R ABHCT] ik R

mSVWB(C)R/L#
MiLETN

[

S$25S-SVW*R/L16 38 25 23 | 250 | 33 24 16°|5°| VC..1604.. o e
S32T-SVW*R/L16 | 45 32 26 | 300 | 41 30 [6°|5° VB..1604.. o | o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m SVXB(C)R/LE
MILET

S08H-SVXCR/L08 10 8 5 | 100 7 oo
S10K-SVXCR/L08 12 | 10| 6 |125| - | o | o | VC-..0802. M2 4 i ol
S10K-SVX*R/L11 12 | 10 6 | 125 | - 9 | -| - oo
S12M-SVX*R/L11 14 | 12 7 | 150 | - 11 | -| =| vc.1103. M2.5 x 7 T8 oo
$16Q-SVX*R/L11 22 | 16 | 11.5| 180 | 40 | 15 |[10°|8°| VB..1103.. : oo
S20R-SVX*R/L11 27 | 20 | 13.5| 200 | 45 | 19 |8°|6° K
S20R-SVX*R/L16 27 | 20 |13.5| 200 | 50 | 19 [1098° o
S25S-SVX*R/L16 32 | 25 | 16 | 250 | 50 | 24 |8°|6° oo
S32T-SVX*R/L16 | 40 | 32 | 19.5| 300 | 60 | 30 [10°8° \g180%- M4 x 10 T15 ol
S40T-SVX*R/L16 50 | 40 | 23.5| 300 | 65 | 38 |8°|6° (K
WAL GBI R NI4T BRI R L/D> 84%

C06J-SVXCR/L0S 85| 6 |325]| 110 | - 5 | - oo
C08K-SVXCR/L08 10 8 5 125 | - 7 - VC..0802.. M2x 4 T6 L
C10M-SVXCR/L08 12 | 10 6 | 150 | - 9 | - °|e
C10M-SVXCR/L11 12 | 10 6 | 150 | - 9 | - o |
C12M-SVXCR/L11 14 | 12 7 | 150 | - 11 | - | e
C12Q-SVXCR/L11 14 | 12 7 | 180 | - 11 | - oo
e e o | 200 | _ 15 | _ VC..1103.. M2.5x7 T8 ol
C20R-SVXCR/L11 22 20 11 200 - 19 - e o
C20S-SVXCR/L11 22 20 11 | 250 — 19 | — O | O
C25S-SVXCR/L16 28 | o5 | 14 | 200 | - o4 | - VC..1604.. M4 x 10 T15 ol e

*URIRBHCT] ik R

B SVZB(C)R/LE!
RILET

$16Q-SVZ*R/L11 1103.. oo
S20R-SVZ*R/L11 27 | 20 | 14 | 200 | 38 | 19 |8°|6°| VB.1103. M2.5x7 8 oo
S$255-SVZ*R/L16 34 | 25 | 19.5| 250 | 50 | 20 6° ol
S$32T-SVZ*R/L16 42 | 32 | 235|300 | 50 | 30 & VS }ggi M4 x 10 T15 o|e
S40T-SVZ*R/L16 50 | 40 | 27 | 300 | 60 | 38 6° ol
C16R-SVZ*R/L11 22 [ 16 [115] 200 ] - | 15 | - o e
C20R-SVZ*R/L11 27 | 20 | 14 | 200 | - | 19 | - VC..1103.. V2.5 7 T8 oo
C20S-SVZ*R/L11 27 | 20 | 14 | 250 | - | 19 | - VB.1103.. : e
C20R-SVZ*R/L16 27 | 20 | 14 | 200 | - | 19 | - oo
C20S-SVZ*R/L16 27 | 20 | 14 | 250 | - | 19 | - Ylg::}ggj:_- M4 x 10 T15 ol
C25R-SVZ*R/L16 34 | 25 | 195|200 | - | 24 | - oo
C25S-SVZ*R/L16 34 | 25 | 195|250 | - | 24 | - ol

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

m SWLCH
RiLET

FRF5°

S08K-SWLCR/L04 8 | 5 | 125 | 25 13° ol
S10K-SWLCR/LO4 | 13 | 10 | 6.5 | 125 | 30 | 9 | 10° | WGC..0402.. M3x 6 T10 ol
S12M-SWLCR/LO4 | 16 | 12 | 7.5 | 150 | 37 | 11 | 13° ol
S160-SWLCR/LO6 | 20 | 16 | 9.5 | 180 | 40 | 15 | 10° ol
S20R-SWLCR/LOG | 25 | 20 | 11.5| 200 | 40 | 19 | g | WC-06TS. M4x10 T15 ' oo
S25S-SWLCR/L06 | 31 | 25 | 14 | 250 | 40 | 24 | 6° ol

E SWUBH!
AILEN

ZBNEDF

S0805H-SWUBR/L06 | 7 8 | 385|100 | 20 | 7 | 12° oo
S1006K-SWUBR/L06 | 7 10 | 35 | 125 | 20 | 9 | {12° oo
S1207K-SWUBR/LO6 | 8 | 12 | 4 | 125 | 25 | 11 | 1go | WBGT060102 M2x4 T6 o| e
$1607M-SWUBR/L06 | 8 16 | 4 | 150 | 25 | 15 | 12° oo
kL ES M g8 NEBA R TI 4T

C0807K-SWUBR/L06 | 8 | 8 | 4 [125] 15 [ 7 | - [ wBGT060102 | M2x4 | T6 [o ] o]

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B E 7
B ZQ[J[JR/LE

ShEHEN

ZQ 1616R/L-02 22 | 16 | 16 | 100 S
2020R/L-02 22| 20 | 20 | 125 | 20 | 20.4| 16 SP200 M6 20 s ol
2525R/L-02 22 | 25 | 25 | 150 | 25 | 25.4 | 16 G

ZQ 1616R/L-03  |3.125| 16 | 16 | 100 | 16 | 16.4 | 20 M5 x 20 L4 o e
2020R/L-03  |3.125| 20 | 20 | 125 | 20 |20.4| 20 P300 ERE
2525R/L-03  |3.125| 25 | 25 | 150 | 25 | 25.4| 20 M6 x 20 L5 oo
3225R/L-03 |3.125| 25 | 32 | 170 | 32 | 25.4| 20 EREE

ZQ 1616R/L-04 |4.125] 16 | 16 | 100 | 16 | 16.4 | 25 M5 x 20 L4 oo
2020R/L-04 |4.125| 20 | 20 | 125 | 20 |20.4| 25 P40 NG
2525R/L-04 |4.125| 25 | 25 | 150 | 25 | 25.4| 25 M6 x 20 L5 ol
3225R/L-04 |4.125| 32 | 32 | 170 | 32 | 25.4| 25 NG

ZQ 2525R/L-05  |5.125| 25 | 25 | 150 | 25 | 25.5| 30 oo
3232R/L-05 |5.125| 32 | 32 | 170 | 32 | 32.5| 30 SP500 M6x20 L5 s

ZQ 2525R/L-06 6.4 | 25 | 25 | 150 | 25 | 25.5 | 35 oo
3232R/L-06 6.4 | 32 | 32 | 170 | 32 | 325 3 SP600 M6 x 20 L5 oo

ISUBISHI == §) B 118 7
UGHR/L 1616H2 | 2.2 | 16 | 16 | 100 | 16 | 16.3| 16 kG2 M5 x 20 L4 o e
2020k2 | 2.2 | 20 | 20 | 125 | 20 | 20.3| 2 M6 x 20 L5 ol
UGHR/L 1616H3 | 3.1 | 16 | 16 | 100 | 16 | 16.4| 18 M5 x 20 L4 oo
20203 | 31 | 20 | 20 | 125 | 20 |20.4| 29 KGT3 V6% 20 - G
2525M3 | 3.1 | 25 | 25 | 150 | 25 | 25.4| 38 oo

UGHR/L 2525M4 | 4.1 | 25 | 25 | 150 | 25 | 25.5| 38 KGT4 M6 x 20 L5 oo

IR 7 = ¥)) By 4] ¥ 7)

CTWR/L 2020-3 3 | 20 | 20 | 150 | 20 [20.25] 14 G

2525-3 3 | 25 | 25 | 150 | 25 |25.25| 14 CTD3 M6 x 20 L5 ol e

CTWR/L 2020-4 4 | 20 | 20 | 150 | 20 |20.25] 14 EREE

25254 4 | 25 | 25 | 150 | 25 |25.25| 14 CTD4 M6 x20 L5 oo

CTWR/L 2525-5 5 | 25 | 25 | 150 | 25 |25.25] 20 CTD5 M6 x 20 L5 o e

CGSSHEZLMNE N

CGSSR/L1616-30D 3 16 16 16 16.5 22 GE30,GE30R/L o | o

2020-30D 3 20 20 20 20.5 22 GE30-AL,GT30 M6 x 20 L5 [ I
2525-30D| 3 | 25 | 25 25 | 255 | 22 GR30 o|e

CGSSR/L1616-40D 4 16 16 16 | 16.6 | 25 GE40,GE40R/L o | o

2020-40D | 4 20 20 20 | 20.6 | 25 GE40-AL,GT40 M6 x 20 L5 oo
2525.40D| 4 | 25 | 25 25 | 25.6 | 25 GRA0 oo
CGSSR/L1616-50D 5 16 16 16 | 16.7 | 25 GE50,GE50R/L o | e
2020-500| 5 | 20 | 20 20 1207 | 25 | GEso-ALGTsO M6 x 20 L5 ol e
2525500 | 5 | 25 | 25 25 | 25.7 | 25 GRS0 ERNE

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B ERENIET

B KTKHR/LE!

ShEHED

KTKHR/L 1010F-2S 2.2 10 10 80 10 15 o | o
1212H-2S 2.2 12 12 100 12 16.5 LI
1612H-28 22| 12 | 16 | 100 | 16 165 | TKN2TKRL2 oo

TKN2-P, TKR/L2-P
1616H-2S 2.2 16 16 100 16 16.5 TKN2.4. TKRIL2.4 LI
2012K-2S 2.2 12 20 125 20 19 o | o
2020K-2S 2.2 20 20 125 20 19 (K]

KTKHR/L 1612H-3S 3.1 12 16 100 16 18 oo
1616H-3S 3.1 16 16 100 16 18 LI
2012K-35 31 | 12 | 20 | 125 | 20 205 |_ TKN3TKRL3 ol
2020K-35 31| 20 | 20 | 125 | 20 o6 |TKNS-P.TKRL3-P oo
2525M-3S 3.1 25 25 150 25 265 o | o

KTKHR/L 2012K-4S 4.1 12 20 125 20 22 LI
2020K-4S 4.1 20 20 125 20 31 TKN4,TKR/L4 o | o
2525M-4S 4.1 25 25 | 150 | 25 34 [N

KTKHR/L 2525M-5S 5.1 25 25 150 25 39.5 | TKN4.8,TKN5,TKR/L5 o | o

BaEKRAABR

KTKHR/L 1010K-2-125S 2.2 10 10 125 10 15 TKN2,TKR/L2 o | o
1212M-2-1258 2.2 12 12 | 150 | 12 15 | TKN2-P,TKR/L2-P o o
1616M-2-150S 2.2 16 16 | 150 | 16 18 | TKN24,TKR/L2.4 o o

KTKHR/L 1616M-3-150S 3.1 16 | 16 | 150 | 16 25 TR KL o |

BaFEKRABTERR

KTKHR/L 0808K-1.6-125B 1.6 8 8 125 8 5 e | o
1010K-1.6-125B 1.6 10 10 125 10 10 TKN1.6,TKN1.6-P LA
1212v-16-1508 | 1.6 | 12 | 12 | 150 | 12 125 |[TKRL16TKRIL16-P| ~M4x12 T15 ole
1414M-1.6-150B | 1.6 14 14 150 14 13 (K]

KTKHR/L 1010K-2-125B 2.2 10 10 125 10 10 TKN2, TKR/L2 o | o
1212M2-1508 | 2.2 | 12 | 12 | 150 | 12 125 | TKN2-PTKRIL2_p| M4X12 15 oo
1616M-2-150B 2.2 16 16 150 16 16 TKN2.4,TKR/L2.4 M5x 12 L4 ® | o

KTKHR/L 1616M-3-150B 3.1 16 | 16 | 150 | 16 16 T TN M5 x 12 L4 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

R W) 4 7)
B MGEHR/L&

ShE1E T

ERAENR

MGEHR/LE

MGEHR/L 1010-15 | 1.5 | 10 | 10 | 100 | 10 | 10 | 14 oo
1212-15 | 1.5 | 12 | 12 | 100 | 12 | 12 | 14 | MGMN150-G M5 x 20 L4 oo
MGEHR/L 1010-2 2 | 10 | 10 | 100 | 10 | 10 | 14 oo
1212-2 2 | 12 | 12 | 100 | 12 | 12 | 14 | MaMN200-G M5 x 20 L4 o o
1616-2 2 16 16 100 16 16 16 MRMN 200 o o
2020-2 2 | 20| 20 | 125 | 20 | 20 | 16 M6 x 20 L5 oo
MGEHR/L1616-25 | 2.5 | 16 | 16 | 100 | 16 | 16 | 16 M5 x 20 L4 oo
2020-25 | 25 | 20 | 20 | 125 | 20 | 20 | 16 MGMN250 oo
252525 | 2.5 | 25 | 25 | 150 | 25 | 25 | 16 M6x20 L5 o| e
MGEHR/L 1616-3 3 | 16 | 16 | 100 | 16 | 16 | 20 M5 x 20 L4 o | o
2020-3 3 20 | 20 | 125 | 20 | 20 | 20 mgg“ggg oo
2525-3 3 | 25| 25 | 150 | 25 | 25 | 20 MBMN300 M6 x 20 L5 oo
3232-3 4 | 32 | 32 |170| 32 | 32 | 20 oo
MGEHR/L 1616-4 4 | 16 | 16 | 100 | 16 | 16 | 20 M5 x 20 L4 oo
2020-4 4 20 | 20 | 125 | 20 | 20 | 20 mggmgg o e
2525-4 4 25 25 150 25 25 20 MRMN400 M6 x 20 L5 o | o
3232-4 4 | 32 | 32 | 170 | 32 | 32 | 20 oo
MGEHR/L 2020-5 5 | 20 | 20 | 125 | 20 | 20 | 25 MGMN500 oo
25255 5 | 25 | 25 | 150 | 25 | 25 | 25 MGGN500 M6 x 20 L5 ol
3232-5 5 | 32 | 32 | 170 | 32 | 32 | 25 MRMN500 oo
MGEHR/L 2525-6 6 | 25 | 25 | 150 | 25 | 25 | 25 MGMN&00 oo
3232-6 6 | 32 | 32 | 170 | 32 | 32 | 25 MaNNGos M8 20 L5 oo
HEHA
MGEVR/L1616-2 2 [ 16 | 16 | 100 16 [213] 5 [ " M5 x 20 L4 oo
MGEVR/L2020-2 2 | 20| 20| 125| 20 | 26.3| & M6 x 20 L5 oo
MGEVR/L1616-25 | 2.5 | 16 | 16 | 100 | 16 | 21.3| 5 MGMN250 M5 x 20 L4 o
MGEVR/L2020-25 | 2.5 | 20 | 20 | 125 | 20 | 26.3| 6 M6 x 20 L5 oo
MGEVR/L1616-3 3 | 16 | 16 | 100| 16 | 24 | 7 MGMNS00 M5 x 20 L4 oo
MGEVR/L2020-3 3 20 20 125 20 | 26.5 6 MRMN300 M6 x 20 L5 LI
JISUBISHI == &¢I 18 7

DGHR/L 1616K2 2 | 16 | 16 | 125 ] 16 | 16.2] 16 M5 x 20 L4 oo
2020K2 2 | 20 | 20 | 125 | 20 |20.2| 20 DGM20CE oo
2525M2 2 | 25 | 25 | 150 | 25 |25.2| 20 M6 x20 L5 oo
DGHR/L 1616K3 3 | 16 | 16 | 125 | 16 | 16.2| 16 M5 x 20 L4 o
2020K3 3 | 20 | 20 | 125 | 20 |20.2| 20 DGM30GE oo
2525M3 3 | 25 | 25 | 150 | 25 | 25.2| 20 DGJ30CE M6 x 20 L5 oo
3232P3 3 | 32 | 32 170 | 32 | 32 | 20 oo
DGHR/L 2020K4 4 | 20 | 20 | 125 | 20 | 20.2| 20 oo
252514 4 25 25 150 25 25.2 20 DGJ40CE M6 x 20 L5 o | o
3232P4 4 | 32 | 32 | 170 | 32 | 32 | 20 oo
DGHR/L 2525M5 5 | 25 | 25 | 150 | 25 | 25.2| 20 DGIS0CE M6 % 20 L5 oo
3232P5 5 | 32 | 32 | 170 | 32 | 32 | 20 oo
DGHR/L 2525M6 6 | 25 | 25 | 150 | 25 | 25.2| 20 DGUBOCE M6 x 20 L5 oo
3232P6 6 | 32 | 32 | 170 | 32 | 32 | 20 olo

ZEZGY2MARFIYIET N #E 7
GYR/L 1616H2 2 | 16 | 16 | 100 | 16 | 16 | 18 M5 x 20 L4 olo
2020K2 2 | 20 | 20 | 125 | 20 | 20 | 20 | GY2mo0200 olo
2525M2 2 | 25 | 25 | 150 | 25 | 25 | 20 M6 x20 L5 olo
GYR/L 1616H3 3 | 16 | 16 | 100 | 16 | 16 | 18 M5 x 20 L4 oo
2020K3 3 | 20 | 20 | 125| 20 | 20 | 20 | Gyamo300 olo
2525M3 3 25 25 | 150 | 25 25 20 GY2M0318 M6 x 20 L5 o|o
3232P3 3 | 32| 32 | 170 | 32 | 32 | 20 olo
GYR/L 1616H4 4 | 16 | 16 | 100 | 16 | 16 | 12 olo
2020K4 4 | 20| 20 | 125 | 20 | 20 | 25 olo
2525M4 4 25 | 25 [ 150 | 25 | 25 | 25 GY2M0400 M6 x 20 L5 oo
3232P4 4 | 32| 32 |170| 32 | 32 | 25 olo
GYR/L 2525M5 5 | 25 | 25 | 150 | 25 | 25 | 25 olo
3232P5 5 | 32| 32 | 170 32 | 32 | 25 | ©Y2Mos00 M6 x 20 L5 oo

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

R 31 Wi £ 18 7

m CGWSR/LE
Tungaloy

Member IMC Group

ShEHE7

16 16 | 100 | 16 | 16.4| 15 M5 x 20 L4

CGWSR/L 1616-W20-L | 2 WGE20 o | o
2020-W20-L 2 20 20 125 20 | 20.4 15 WGE20R/L M6 x 20 L5 o | o
2525-W20-L 2 25 25 150 25 25.4 15 L]

CGWSR/L 1616-W30-L 8 16 16 | 100 16 | 16.4 | 16.5 WGE30 M5 x 20 L4 ° | o
2020-w30-L | 3 | 20 | 20 | 125 | 20 |20.4|16.5| “oeloRt M6 x 20 Ls oo
2525-W30-L [ 3 25 25 | 150 | 25 | 25.4 | 16.5 WGR30 O || O

CGWSR/L 2020-W40-L 4 20 20 125 20 | 20.4| 21 |WGE40,WGE40R/L o | o
2525-W40-L | 4 25 | 25 | 1580 | 25 | 25.4| 21 | waT40,wGR40 M6 x 20 L5 °o| o

CGWSR/L2020-W50-L | 5 20 20 | 125 | 20 | 20.4| 21 |wGE50,WGE50R/L o e
2525-W50-L | 5 25 25 | 150 | 25 | 25.4| 21 WGT50,WGR50 M6x20 L5 oo

aTaeguTec YEIRYINIE 7]

TTER/L 1010-1.4T15 1.4 10 10 125 10 9.5 15 L Jie]
1212-1.4T15 14 | 12 | 12 | 125 | 12 |115| 15 N M5 x20 L4 e |0
1616-1.4T20 1.4 16 16 | 125 16 | 15.5| 20 ' M6 x 20 L5 e | O
2020-1.4T20 1.4 20 20 | 125 | 20 | 19.5| 20 ® | O

TTER/L 1010-2T15 2 10 10 | 125 | 10 | 9.1 15 e | O
1212-2T15 2 | 12| 12 | 125 | 12 | 111 15 TDC2 M5 x20 L4 elo
1616-2T20 2 | 16 | 16 | 125 | 16 | 15.1 | 20 ez e o
2020-2T20 2 20 20 | 125 | 20 | 19.1 20 M6 x 20 L5 e O
2525-2T20 2 25 25 150 25 | 241 20 e | O

TTER/L 1212-3T15 3 12 12 | 125 | 12 | 10.8 | 15 TDC3 M5 x 20 L4 e | O
1616-3T20 3 16 | 16 | 125 | 16 | 14.8| 20 ;SD‘jg e |0
2020-3T20 3 | 20 | 20 | 125 | 20 |18.8| 20 TDXU3 M6 x 20 L5 e |0
2525-3T20 3 25 25 | 150 | 25 | 23.8| 20 TDT3 e | O
2525-3T20 3 25 25 150 25 | 23.8| 20 e | O

TTER/L 1616-2 2 16 16 | 110 | 16 | 15.1 | 12 e | O
2020-2 2 | 20| 20 | 125 | 20 |19.1| 12 Tacs M6x20 L5 oo
2525-2 2 25 | 25 | 150 | 25 |24.1| 12 TDJ2 e |0

TTER/L 1616-3 3 16 16 110 16 14.8 12 TDC3, TSC3 e | O
2020-3 3 | 20 | 20 | 125 | 20 |18.8| 12 |1py5 tpxus M6 x 20 L5 e 0
2525-3 3 25 25 150 25 | 23.8 12 TDT3 e | O

TTER/L 1616-4 4 16 | 16 | 110 | 16 | 14.5| 15 | 1pca tsca oo
2020-4 4 20 20 125 20 18.5 15 TDJ4, TDXU4 M6 x 20 L5 e O
2525-4 4 25 25 150 25 23.5 15 TDT4 [ I e}

TTER/L 2020-5 5 20 20 125 20 18.1 20 TDC5, TSC5, TDJ5, M6 x 20 L5 oo
2525-5 5 25 25 | 150 | 25 | 23.1| 20 TDXUS, TDTS o|o

TTER/L 2020-6 6 20 20 | 125 | 20 [ 17.6 | 20 | (506 vsce Tous. oo
2525-6 6 25 25 | 150 | 25 | 22.6| 20 TDXU6, TDT6 M6 x 20 L5 o|o

TTER/L 2525-8 8 | 25 | 25 | 150 [ 25 [22.1] 25 TDCS, TSC8 M6 x 20 Ls oo
3232-8 8 32 32 170 32 | 29.1 25 TDXU8, TDT8 o|o

TTER/L 2525-10T25 10 25 25 150 25 | 21.1 25 o|o
3232-10T40 10 32 32 170 32 | 28.1 40 TDT10 M8 x 30 L6 o | o
4040-10T40 10 40 40 200 40 | 36.1 40 ol o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

IR 3 1)) B ) 48 7
m KGMR/LE

KGMSR/L

KGMR/L

S
M5 x 20

KGMR/L 2012K-2T17 2 o | o
200217 | 2 | 20 | 20 | 125 | 20 |19.15] 17 | oMEEE0 M6 x 20 s ol
2525M-2T17 2 25 25 | 150 | 25 |24.15] 17 o | o

KGMR/L 1212H-3 3 12 12 100 12 10.8 9 M5 x 20 L4 e o
1616H-3 3 16 16 100 16 14.8 9 o | o
2020K-3 3 20 20 125 20 18.8 9 GMM3020 o | o
2525M-3 3 25 25 | 150 | 25 | 23.8| 9 GMG3030 o | @
1616H-3T20 3] 16 16 | 100 | 16 | 14.8| 20 GMMB3020R/L M6 x 20 L5 o | o
2012K-3T20 3 12 20 125 20 10.8 20 o | o
2020K-3T20 6} 20 20 125 20 18.8 20 o | o
2525M-3T20 3 25 25 150 25 23.8 20 o | @

KGMR/L 2020K-4 4 20 20 125 20 18.3 10 o | o
2525M-4 4 25 25 150 25 23.3 10 GMM4020 o | o
2020K-4T20 4 20 20 125 20 18.3 20 GMG4030 M6 x 20 L5 o | o
2525M-4T20 4 25 25 150 25 | 23.3| 20 GMM4020R/L )
2525M-4T25 4 25 25 150 25 23.3 25 o | o

KGMR/L 2020K-5 5 20 20 125 20 17.8 10 o | @
2525M-5 5 25! 25 150 25 22.8 10 GMM5020 o | o
3232P-5 5 32 32 | 170 | 32 | 29.8| 10 GMG5030 M6 x 20 L5 o | o
2525M-5T25 5 25 25 150 25 22.8 25 GMM5020R/L P S
3232P-5T25 5 32 32 170 32 29.8 25 o | o

KGMR/L 2525M-6T30 6 25 25 | 150 | 25 | 22.4| 30 a2 M6 x 20 L5 o o

KGMR/L 2525M-8 8 25 25 | 150 | 25 | 22.0| 25 GMM8020 o o
3232p-8 8 | 32| 32 | 170| 32 | 20.0| 25 Jomasos0 M6 x20 L5 oo

BEsEKH o o

KGMR/L 0810K-1.5-125 1.5 10 8 125 8 9.4 5 o | o
1010K-15-125 1.5 10 10 125 10 9.4 10 GMM1520 M5 x 20 L4 o |0
1212F-1.5-85 1.5 12 12 85 12 11.4 12.5 GMM1520R/L ) )
1212M-1.5-1500 1.5 12 12 150 12 11.4 | 12.5 o | o

KGMR/L 0810K-2-125 2 10 8 125 8 9.2 5 o | o
1010K-2-125 2 10 10 125 10 9.15 10 o | o
1212F-2-85 2 12 | 12 | 85 | 12 |11.15| 12.5| GMM2420 M5 x 20 L4 oo
1212M2-150 | 2 | 12 | 12 | 150 | 12 |11.15 12.5| GMM2020R/L oo
1616M-2-150 2 16 16 150 16 | 15.15| 16 M6 x 20 L5 o | o

KGMR/L 1010K-25-125 2.5 10 10 125 10 9 10 o | o
1212F-2.5-85 2.5 12 10 85 10 11 12.5 GMM2520 M5 x 20 L4 o | o
1212M-25-150 2.5 12 12 150 12 11 12.5| GMM2520R/L o | o
1616M-2.5—153 2.5 16 16 150 16 15 16 M6 x 20 L5 o | o

KGMR/L 1616M-3-150 | 3 16 | 16 | 150 | 16 | 14.8| 16 GNIG020, G300 M6 x 20 L5 o e

HHMA
KGMSR/L 1212H-3 3 12 12 100 12 17 4.8 M5 x 20 L4 o | o
1616H-3 3 | 16 | 16 | 100 | 16 | 21.5| 4.8 GMM3020 oo
GMG3030
2020K-3 3 | 20 | 20 | 125 | 20 | 25 | 4.8 | GuM3020R/L M6 x 20 L5 oo
2525M-3 3 25 25 150 25 30 4.8 o | o

ERAIETIR

KGMSR/L%!

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

) Bt 71 EE 7] iR

H SPBE!
SpEHE 7

BOKORLOY'| KORLOYH] & 71 4R ¥

;i

OR/L

SPB 26-2 2 . 26 110 SP200,20 °
26-3 3 2.4 26 110 21 SP300,300R/L °
26-4 4 3.2 26 110 21 SP400,400R/L °
26-5 5 4.2 26 110 21 SP500,500R/L °

SPB 32-2 2 1.6 32 150 27 SP200,200R/L °
32-3 3 2.4 32 150 27 SP300,300R/L °
32-4 4 3.2 32 150 27 SP400,400R/L °
32-5 5 4.2 32 150 27 SP500,500R/L °
32-6 6 5.2 32 150 27 SP600,600R/L °

SUBISHI =% ) i 7] 12
UGHN 262 2.2 1.60 26 110 21.4 KGT2N,KGT2R/L °
263 3.1 2.35 26 110 21.4 KGT3N,KGT3R/L °
264 4.1 3.20 26 110 21.4 KGT4N,KGT4R/L °
265 5.1 4.00 26 110 21.4 KGT5N,KGT5R/L °
UGHN 322 2.2 1.60 32 150 25.0 KGT2N,KGT2R/L °
323 3.1 2.35 32 150 25.0 KGT3N,KGT3R/L )
324 4.1 3.20 32 150 25.0 KGT4N,KGT4R/L °
325 5.1 4.00 32 150 25.0 KGT5N,KGT5R/L )

KTKB 19-1SS 1.6 1.2 19 86 15.7 TKN1.6,TKR/L1.6 °

KTKB 26-1SS 1.6 1.2 26 110 21.4 TKN1.6,TKR/L1.6 °

KTKB 32-1SS 1.6 1.2 32 150 25 TKN1.6,TKR/L1.6 °

KTKB 19-2S 2.2 1.8 19 86 15.7 TKN2,TKR/L2 °

26-2S 2.2 1.8 26 110 21.4 TKN2,TKR/L2 °

26-3S 3.1 2.6 26 110 21.4 TKN3,TKR/L3 °

26-4S 4.1 3.4 26 110 21.4 TKN4,TKR/L4 °

26-5S 5.1 4.2 26 110 21.4 TKN5,TKR/L5 °

KTKB 32-2S 2.2 1.8 32 150 25 TKN2,TKR/L2 °

32-3S 3.1 2.6 32 150 25 TKN3,TKR/L3 °

32-4S 4.1 3.4 32 150 25 TKN4,TKR/L4 °

32-5S 5.1 4.2 32 150 25 TKN5,TKR/L5 °

32-6S 6.4 5.4 32 150 25 TKN6,TKR/L6 °

KTKBR/L 32-8S 8.0 6.8 32 150 TKN8,TKR/L8 °

32-9S 9.6 8.0 32 150 25 TKN9, TKR/L9 °

Ungaloy e 2l ML

SCTH 26-3 8 2.2 25.35 110 21.16 GT30 o

26-4 4 3.2 25.14 110 21.05 GT40 [

SCTH 32-3 8 2.2 31.41 150 24.8 GT30 o

32-4 4 3.2 31.14 150 24.66 GT40 o

32-5 5 4.2 30.87 150 24.53 GT50 o

32-6 6 5.2 30.61 150 24.39 GT60 °

W ) &7 J) EESMBB & F & P e
SNEYI8 i o

. [ ]

20-32 32 | 248 | 20 13 50 | 5.3 | 100 | 19 38 o

SMBB 25-26 26 | 21.4 | 25 5 45 | 4.0 | 100 | 23 42 |M6x30| L5 o
25-32 32 | 248 | 25 8 50 | 53 | 110 | 23 42 o

SMBB 32-32 32 | 248 | 32 5 54 | 53 | 110 | 29 48 o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

=ZANA1E7 (ERR)

B CGBR/LE
/CGBSR/LE!

ShEtEN

ERAETR

CGBR/L

i Q
.H—M‘ b

ERAETIR

CGBSR/L
GWCSR/L

CGBR/L 1616H32 . . 16 16 | 100 | 22 16 20 M3.5x10 T15 o o
2020K32 0.5-2.5 | 20 20 | 125 | 26 20 25 GBA32R/L HL1808 ML0520 125 o o
2525M32 05-25 | 25 | 25 | 150 | 26 | 25 | 32 ) o | o

CGBR/L 2020K43 1.25-45| 20 | 20 | 125 | 26 | 20 | 25 | GBA43R/L125-450 o | o
2020K43-1 |1.25-1.85 20 | 20 | 125 | 26 | 20 | 25 | GBA43R/L125-185 HL1808 M5 x 12 T20 ° |0
2020K43-2 2.0-28 | 20 | 20 | 125 | 26 | 20 | 25 | GBA43R/L200-280 ML0520 L2.5 oo
2020K43-3 3.0-45 | 20 | 20 | 125 | 26 | 20 | 25 | GBA43R/L300-450 oo

CGBR/L 2525143 1.25-45| 25 25 | 150 | 26 25 32 | GBA43R/L125-450 e o
2525M43-1 | 1.25-1.85| 25 25 | 150 | 26 25 32 | GBA43R/L125-185 M5 x 12 T20 o o
2525M43-2 | 2.0-2.8 | 25 | 25 | 150 | 26 | 25 | 32 | gpassmizoo-zso | L1808 ML0520 L2.5 e
2525\M43-3 | 3.0-45 | 25 25 | 150 | 26 25 32 | GBA43R/L300-450 e |

CGBSR/LE (H7#LH )

CGBSR/L1616H32 0.5-2.5 16 16 | 100 | 22 16 20 o o
2020K32 0.5-2.5 | 20 20 | 125 | 26 20 25 GBAS32R/L HL1808 M3.5x10 15 e o
2525M32 | 0.5-25 | 25 | 25 | 150 | 26 | 25 | 32 MLO520 | L2.5 |4 |,

CGBSR/L2020K43 1.25-45| 20 20 | 125 | 26 20 25 M5x 12 T20 o | o
2525M43 125-45| o5 o5 | 150 | 26 o5 32 GBA43R/L125-450 | HL1808 MLO520 125 ol o

SuBISHI - == 917

MGHR/L 2020K3315 | 1.25-2.3 | 20 20 | 125 - 20 |20.2 o o
2020K3323 2.3-3.3 20 20 | 125 - 20 |20.2 o | o
2525M3315 | 125-23| 25 | 25 | 150 | - | 25 |25.2| MGTRIL33IZS | 1y 4408 '\l’\'/l3|_'g;‘210° |_T; 5 lele
2505M3323 | 2.3-33 | 25 | 25 | 150 | - | 25 |25.2 ® lele
2525M3333 | 3.3-4.7 25 25 | 150 - 25 |25.2 o o

MGHR/L 2020K4315 | 1.25-2.3| 20 20 | 125 - 20 |20.2 o o
2020K4323 | 2.3-33 | 20 | 20 125 | - | 20 |20.2| MGTRULAB1ZS ole
2020K4333 3.3-4.7 20 20 | 125 - 20 |20.2 M5 x 12 T20 o | o
2525M4315 | 1.25-2.3 | 25 25 | 150 - 25 | 25.2 HL1808 MLO520 L2.5 OO
2525M4323 | 2.3-3.3 25 25 | 150 - 25 | 25.2 ) o | o
2525M4333 | 3.3-4.7 | 25 25 | 150 - 25 |25.2 o | o
2525M4447 | 4.7-6.3 25 25 | 150 - 25 | 25.2 | MGTR/L44500-44600 T )

Bsumimomo x4 7

GWCR/L 1010-3 0.33-2.80| 10 10 | 125 | 17 10 10 o o

1212-3 0.33-2.80| 12 12 | 125 | 17 12 12 o o
1616-3  |0.33-2.80| 16 | 16 | 125 | 17 | 16 | 16 | TGARML3033 | 1y 4408 '\:\IASLg;21OO E 21 5 lele
2020-3  |0.33-2.80| 20 | 20 | 125 | 17 | 20 | 20 ° lele
2525-3 0.33-2.80| 25 25 | 150 | 17 25 25 LK

GWCR/L 2020-15 1.00-1.45| 20 20 | 125 | 17 20 20 | TGAR/L4125-4145 LI
2020-25 1.50-2.30| 20 20 | 125 | 17 20 20 | TGAR/L4150-4230 o | o
2020-35 2.50-4.80| 20 20 | 125 | 17 20 20 | TGAR/L4250-4480 M5 x 12 T20 o | e
2525-15 1.00-1.45| 25 25 | 150 | 17 25 25 | TGAR/L4125-4145| HL1808 MLO520 125 o | o
2525-25 1.50-2.30| 25 25 | 150 17 25 25 | TGAR/L4150-4230 ’ [ I
2525-35 2.50-4.80| 25 25 150 17 25 25 TGAR/L4250-4480 e | o

GWCSR/LE (H7IHLH )

GWCSR/L 2020-3 0.33-2.80| 20 20 | 125 - 20 20 TGAR/L3033 HL1808 M3.5x 10 T15 e o

2525-3 0.33-2.80| 20 20 | 150 - 20 20 -3280 ML0520 L2.5 e o

GWCSR/L 2020-15 |1.00-1.45| 20 20 | 125 - 20 20 | TGAR/L4125-4145 o | o

2020-25 |1.50-2.30| 20 20 | 125 - 20 20 TGAR/L4150-4230 o | o
2020-35 2.50-4.80| 20 20 125 - 20 20 TGAR/L4250-4480 M5 x 12 T20 e | o
2525-15 |1.00-1.45 25 25 | 150 - 25 25 | TGAR/L4125-4145| HL1808 MLO520 125 o o
2525-25 |1.50-2.30| 25 25 | 150 - 25 25 | TGAR/L4150-4230 ' o | e
2525-35 |2.50-4.80| 25 25 | 150 - 25 25 | TGAR/L4250-4480 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

=ANA1E7 (ERR)

B CTGFR/LE!

ShEHEN
CTGFSR/L

CTGFR/L

CTGFR/L1010F-16 | 0.33-2.5 | 10 | 10 | 80 |18.5| 10 | 12
1212H-16 |0.33-25 | 12 | 12 | 100 |18.5| 12 | 16
1616H-16 | 0.33-25 | 16 | 16 | 100 | 18.5| 16 | 20 | TGF32R/L | HL1808
2020K-16 | 0.33-2.5 | 20 | 20 | 125 | 20 | 20 | 25
2525M-16 | 0.33-2.5 | 25 | 25 | 150 | 20 | 25 | 32

TRk (B3 EREER)

CTGFR/L0808H-16F |0.33-25| 8 | 8 |100|185] 8 | 8
1010K-16F | 0.33-2.5 | 10 10 | 125 | 18.5| 10 10 M4 x 7 T15
1212K-16F | 0.33-25 | 12 | 12 | 125 |18.5| 12 | 12 | TGFS2RL | HL1808 | \\ onp | |55
1212M-16F | 0.33-25 | 12 | 12 | 150 |18.5| 12 | 12
1616K-16F | 0.33-2.5 | 16 | 16 | 150 |18.5| 16 | 16

CTGFSR/LE! (HZIHLA )

M4 x 7 T15

ML0520 L2.5

CTGFSR/L1616H-16 | 0.33-2.5 | 16 16 | 100 |18.5| 16 | 20 M4 x 7 T15 o |0
2020K-16 | 0.33-25 | 20 | 20 | 125 | 20 | 20 | 25 TGF32R/L HL1808 MLO;ZO 125 ° o
2525M-16 | 0.33-25 | 25 | 25 | 150 | 20 | 25 32 ’ oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

ZHENLE7 (BT )
m SGBR/LE!/SGBSR/LE

5hEtED

-

SGBSR/L

b

SGBR/L

SGBR/L 1616H32 0.33-2.5 o e
2020K32 0.33-2.5| 20 20 | 125 | 26 20 25 GBA32R/L M4 x 10 T15 LI
2525M32 0.33-25| 25 25 | 150 | 26 25 32 o e

SGBR/L 2020K43 1.25-45| 20 20 | 125 | 26 20 25 | GBA43R/L125-450 LI
2020K43-1 | 1.25-1.85| 20 20 | 125 | 26 20 25 | GBA43R/L125-185 o | o
2020K43-2 2.0-2.8 | 20 20 | 125 | 26 20 25 | GBA43R/L200-280 M5x 12 T20 o | o
2020K43-3 3.0-4.5 20 20 | 125 | 26 20 25 | GBA43R/L300-450 o | o

SGBR/L 2525M43 1.25-45| 25 25 | 150 | 26 25 32 | GBA43R/L125-450 o | o
2525M43-1 | 1.25-1.85| 25 25 | 150 | 26 25 32 | GBA43R/L125-185 )
2525M43-2 | 2.0-28 | 25 | 25 | 150 | 26 | 25 | 32 [ GBAssmizoozeo| MOX12 T20 ole
2525M43-3 | 3.0-4.5 | 25 25 | 150 | 26 25 32 | GBA43R/L300-450 oo

SGBSR/LE (HZIHLA )
SGBSR/L 1616H32 0.5-25 | 16 16 | 100 | 22 16 20 oo
2020K32 0.5-2.5 | 20 20 | 125 | 26 20 25 GBA32R/L M4 x 10 T15 o | o
2525M32 | 0.5-2.5 | 25 25 | 150 | 26 25 32 oo
SGBSR/L 2020K43 1.25-45| 20 20 | 125 | 26 20 25 | GBA43R/L125.450 M5 x 12 T20 oo
2525M43 1.25-45| 25 25 | 150 | 26 25 32 ol e

B KTGFR/LE!

JOCE

9"&%)] KTGFR/L _ _

KTGFSR/L N J

KTGFR/L1010F-16 | 0.33-2.5| 10 | 10 | 80 |18.5| 10 | 12 oo
1212H-16 | 0.33-25| 12 | 12 | 100 | 18.5| 12 | 16 oo
1616H-16 | 0.33-2.5| 16 | 16 | 100 | 18.5| 16 | 20 TGF32R/L M4 x 7 T15 oo
2020K-16 | 0.33-25| 20 | 20 | 125| 20 | 20 | 25 e
2525M-16 | 0.33-2.5| 25 | 25 | 150 | 20 | 25 | 32 ol e

Ziwd (BWEFRSER)

KTGFR/L0S08H-16F | 0.3325| 8 | 8 | 100 |185] 8 | 8 PR
1010K-16F | 0.33-2.5| 10 | 10 | 125 |18.5| 10 | 10 oo
1212K-16F | 0.33-2.5| 12 | 12 | 125 |18.5| 12 | 12 TGF32R/L M4 x7 T15 oo
1212M-16F | 0.33-25| 12 | 12 | 150 | 18.5| 12 | 12 oo
1616K-16F | 0.33-2.5| 16 | 16 | 150 | 18.5| 16 | 16 oo

CTGFSR/LE! (HEI#LA )

KTGFSR/L1616H-16 | 0.33-25] 16 | 16 | 100 |18.5] 16 | 20 oo
2020K-16 | 0.33-2.5| 20 | 20 | 125 | 20 | 20 | 25 TGF32R/L M4 x 7 T15 ol
2525M-16 | 0.33-2.5 | 25 | 25 | 150 | 20 | 25 | 32 ole

Tungaloy HREYET

JSTGR/L 1010K3 | 0.33-3.0| 10 | 10 | 125 |18.5] 10 | 10 e
1212K3 | 0.33-30| 12 | 12 | 125 |18.5| 12 | 12 JTGRIL3 M4 x 7 T15 oo
1616K3 | 0.33-30| 16 | 16 | 125 |18.5| 16 | 16 oo

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

ZfNA1E7] (BETR)

B S-KTGF&!
HER S-KTGF
ERNHF

S12M-KTGFL16 80 6 9 11.0| 27 11 o| o
S14H-KTGFL16 14.0 100 6 9 13.0| 27 13 o | o
S15F-KTGFL16 15.875 85 6 9 14.6| 27 15 o| o
S16F-KTGFL16 16.0 85 6 9 14.6| 27 15 o| o
S19G-KTGFL16 19.05 90 6 10.5|17.6| 27 17 ol o
S19K-KTGFL16 19.05 120 6 10.5|17.6| 27 17 TGF32R M4 x7 T15 o|o
S20G-KTGFL16 20.0 90 6 11.0|18.6| 27 18 o|o
S20K-KTGFL16 20.0 120 6 11.0|18.6| 27 18 o|o
$25.0H-KTGFL16 25.0 100 6 14.0|23.6| 32 23 o|o
S25K-KTGFL16 25.4 120 6 14.0|23.6| 32 23 o|o
B RNILFEER . 02
BSiinono ==
Pil ;LEJ] f20 A a h 1
W g1

GWCIR/L 325 ) TGAL/R3
GWCIR/L 432 32 | 250] 30 | 23 | 32 | 30 | 3.0 | TGALR4 M5x 12 T20 oo
latlm[:ev W?CI(S)HV’ F‘ % m }L tﬂ E n
S25R-SGTR/L16 25 [ 200] 30 [17.5] 25 | 23 | 25 GBL/R32 M4 %9 5 D
S32T-SGTR/L 22 32 | 250] 30 | 23 | 32 | 30 | 3.0 GBL/R43 M5x 12 T20 o |
rnron
S20R-STGFR/L32 20 [ 200] 30 [145 20 | 19 | 25 o e
$25S-STGFR/L 32 o5 | 250| 30 |17.5 25 | 23 | 2.5 | TGFLR32 M4 x9 T15 o|e
S32T-STGFR/L 43 32 | 300| 30 | 23 32 | 30 | 3.0 | TGFLIR43 M5 x 12 T20 ol

®m SMR[J[JLBY B
i I |

SMR1616R/L-2 16 | 16 | 100 | 26 | 16 | 18 | 2 MRMN200 M5 x 20 L4 oo
SMR1616R/L-3 20 | 20 | 100 | 30 | 16 | 19 | 3 % o e
SMR2020R/L-3 20 | 20 | 125| 30 | 20 | 23 | 3 oo
SMR2525R/L-3 25 | 25 | 150 | 30 | 25 | 28 | 3 MRMN300 o e
SMR3232R/L-3 32 | 32 | 170| 30 | 32 | 35 | 3 oo
SMR2020R/L-4 20 | 20 | 125| 30 | 20 | 24 | 3 oo
SMR2525R/L-4 25 | 25 | 150 | 30 | 25 | 29 | 3 MRMN400 oo
SMR3232R/L-4 32 | 32 | 170 | 30 | 32 | 36 | 3 oo
SMR2020R/L-5 20 | 20 | 125 | 30 | 20 | 25 | 4 M6 x 22 L5 oo
SMR2525R/L-5 25 | 25 | 150 | 30 | 25 | 30 | 4 MRMN500 oo
SMR3232R/L-5 32 | 32 | 170 | 30 | 32 | 37 | 4 K
SMR2525R/L-6 25 | 25 | 150 | 30 | 25 | 31 | 4 oo
SMR3232R/L-6 32 | 32 | 170 | 30 | 32 | 38 | 4 MRMN600 oo
SMR2525R/L-8 25 | 25 | 150 | 30 | 25 | 33 | 5 oo
SMR3232R/L-8 32 | 32 | 170 30 | 32 | 40 | 5 MRMN80O oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

RIPIEN

m MGIVR/L3!

@
BKORLOY
hEEND
MGIVR/L 2016-15 | 1.5 | 3.5| 16 | 12.4| 180 | 35 | 14.8 oo
2520-15 | 15| 35| 20 | 14 | 200 | 45 | 18.4| MGMN150 M4 x 15 L3 oo
2925-15 | 1.5 | 35| 25 |17.25| 250 | 45 | 23.4 oo
MGIVR/L 2016-2 2 (45| 16 | 12.4| 180 | 35 | 14.8 Max 15 L3 oo
2520-2 2 45| 20 | 14 | 200 | 45 | 18.4| MGMN200 oo
2925-2 2 | 45| 25 [17.25| 250 | 45 | 23.4 M5 x 20 L4 oo
MGIVR/L 2016-25 | 2.5 | 4.5| 16 | 12.4| 180 | 35 | 14.8 M4 x 15 L3 oo
252025 | 25| 45| 20 | 156 | 200 | 45 | 18.4| MGMN250 oo
202525 | 25| 45| 25 | 18.9| 250 | 45 | 23.4 M5 x 20 L4 oo
MGIVR/L 2016-3 3 | 5| 16 | 145| 180 | 35 | 14.8 ° | o
2316-3 3| 6 | 16 | 156| 180 | 35 | 14.8 M4 x 15 L3 oo
2520-3 3| 6 | 20 | 15.6| 200 | 45 | 18.4 mgmggg oo
3125-3 3 | 6 | 25 | 18.9| 250 | 45 | 23.4 M5 20 L4 oo
3732-3 3| 6 | 32 | 215|300 | 45 | 30 oo
MGIVR/L 2520-4 4 | 6 | 20 | 156 | 200 | 45 | 18.4 o | o
3125-4 4 | 6| 25 | 189 | 250 | 45 | 23.4 mgmjgg M5 x 20 L4 oo
3732-4 4 | 6 | 32 | 215|300 | 65 | 30 oo
MGIVR/L 3125-5 5 | 8 | 25 | 19.4| 250 | 45 | 23.4| MGMN500 M5 x 20 L4 oo
3732-5 5 | 8 | 32 | 215/ 300 | 65 | 30 MRMN500 oo
MGIVR/L 3125-6 6 | 8 | 25 | 19.4| 250 | 45 | 23.4| MGMNGOO M6 x 25 L5 oo
3732-6 6 | 8| 32 | 215 300 | 65 | 30 MRMNGB00 oo
MGIVR/L 3732-8 8 | 10 | 32 | 23.5| 300 | 65 | 30 MGMNB800 M6 x 25 L5 oo
4540-8 8 [ 10| 40 | 272|350 | 70 | 38 MRMNS00 oo
KIGMR/L2016B-3V | 3 |55 | 16 |11.5] 150 | 25 | 15 P
2520B-3V | 3 | 6.0 | 20 | 145|180 | 32 | 18 |GMMm30, Gmcao| M4x15 L3 50
3225B-3V | 3 |80 | 25 | 19 | 200 | 40 | 23 M6 x 25 L5 oo
KIGMR/L3225B-4V | 4 | 8.5 | 25 19 180 40 23 | GMM40,GMG40 M6 x 25 L5 oo
4032B-4V | 4 [11.0| 32 |23.5| 200 | 50 | 29 |GMMS0, GMGS50 oo
- Y
Gy TaeguTec ¥FEIE A FLYI1E 7]

TTIR/L 16-2C 2 [85] 16 | 165 125 | - 15 S M4x15 L3 ° o
20-2C 2 |6.0| 20 | 158 160 | 40 | 18 TSC2 oo
25-2C 2 |50| 25 | 17.5| 200 | 40 | 23 TDJ2 M5x 20 L4 5o
TTIR/L 20-3C 3 |6.0| 20 | 15.8 | 160 | 40 | 18 ° | o
25-3C 3 |51| 25 | 17.5| 200 | 40 | 23 TDC3 o | o
32-3C 3 | 47| 32 [19.8] 250 | 60 30 TSC3 oo
TTIR/L 25-3C-T8 | 3 | 8 | 25 | 21.5| 200 | 40 | 23 s M5 x 20 L4 ol
32-3C-T10 | 3 | 10| 32 | 27 | 250 | 60 | 30 TDT3 o | e
40-3c-T12 | 3 |12 | 40 | 33 | 300 | 65 | 38 o | e
TTIR/L 20-4C 4 60| 20 | 15.8| 160 | 40 | 18 ° | e
25-4C 4 |52| 25 | 175|200 | 40 | 23 o | e
32-4C 4 |47| 32 | 208|250 | 60 | 30 oe, Ts08 o e
TTIR/L 25-4C-T8 4 | 8 | 25 | 215|200 | 40 | 23 Tosa. Toxud  MBx20 L4 o | e
32-4C-T10 | 4 | 10 | 32 | 27 | 250 | 60 | 30 ToT4 °o| e
40-4C-T12 | 4 |12 | 40 | 33 | 300 | 65 | 38 o | e
50-4C-T14 | 4 | 14 | 50 | 40 | 350 | 70 | 48 °o| e
TTIR/L 25-5C 5 |52 | 25 |17.3| 200 | 40 | 23 ° | o
32-5C 5 |47 | 32 | 208|250 | 60 | 30 oo
TTIR/L 32-5C-T10 | 5 | 10 | 32 | 27 | 250 | 60 | 30 TO0S TSGS TOJS M6 x 25 L5 oo
40-5C-T12 | 5 | 12 | 40 | 33 | 300 | 65 | 38 oo
50-5C-T14 | 5 | 14 | 50 | 40 | 350 | 70 | 48 oo
TTIR/L 32-6C 6 |47 | 32 | 208|250 | 60 | 30 oo
TTIR/L 32-6C-T10 6 10 32 27 250 60 30 TDC6, TSC6, TDJE, M6 x 25 L5 o | o
40-6C-T12 | 6 |12 | 40 | 33 | 300 | 65 | 38 TDXUG, TDT6 X oo
50-6C-T14 | 6 | 14 | 50 | 40 | 350 | 70 | 48 ol e
TTIR/L 32-8C 8 55 32 21.3 | 250 60 30 TDC8, TSC8 M6 x 25 L5 [ I
40-8C 8 |58| 40 | 25.8| 300 | 65 | 38 TDXUS, TDT ol e

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

MELAILETN

® CGWR/LE!
Sz

$16Q-CGWR/L3 1.1 16 11
S20R-CGWR/L3 1.1-3.0 20 13.5 | 200 22 18.4

S§25S-CGWR/L3 1.1-3.0 25 17 250 22 23.4 | GW110-300R/L
S32T-CGWR/L3 1.1-3.0 32 | 21.5| 300 32 30

S40U-CGWR/L3 1.1-3.0 40 27 250 32 38

S$255-CGWR/L5 3.15-5.0 | 25 17 250 22 23.4
S$32T-CGWR/L5 3.15-5.0 | 32 | 21.6 | 300 32 30 | GW315-500R/L
S40U-CGWR/L5 3.15-5.0 | 40 27 350 32 38
S32T-CGWR/L8 6.0-8.0 32 | 21.5| 300 32 30
S40U-CGWR/L8 6.0-8.0 40 27 350 32 38

SUBISHI =3 p3 7L 4] 48 7

SUBISHI MATERIALS

HL1810 | MLO520 L2.5

GW600-800R/L

FCDG 4120R/L 3M 3 20 | 13 | 180 | 32 | 18 e e
4125R/L3M 3 25 | 17 | 200 | 40 | 23 | DGM30CT | HL1810 | MLO520 | 125 |e|e
4132R/L 3M 3 32 | 22 | 250 | 50 | 30 oo

FCDG 4120R/L 4M 4 20 | 18 | 180 | 82 | 18 | .o o e
4125R/L 4M 4 25 | 17 | 200 | 40 | 23 | DOVENE | Hitgto | MLOS20 | 125 e e
4132R/L 4M 4 32 | 22 | 250 | 50 | 30 B

GVR/L 1216-1SS To2 | 16 | 60 150 | 20 | 15 HL1810A| MA A [e]e

1420-1S To2 | 20 | 70| 150 | 24 | 19 N
1620-1A To2 | 20 | 80| 160 | 28 | 19 oo
2025-1B Tos | 25 | 100 180 | 35 | 23 HL1810B | MB LB |ele
2025-2B T32 | 25 | 10.0| 180 | 35 | 23 oo
2532-1C Tas | 32 | 125| 200 | 43 | 30 GVRIL e
3232-1C Tas | 32 | 16.0| 220 | 52 | 30 oo
4032-1C Tas | 32 | 21.0| 250 | 43 | 30 S
2532-2C T55 | 32 | 12.5| 200 | 43 | 30 HL1810C |  MC LlC e e
3232-2C T55 | 32 | 16.0| 220 | 52 | 30 SR
4032-2C T55 | 32 | 22.2| 250 | 43 | 30 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

NNERILE T

B SNGR/LH#!

Tungaloy

NEEN
TmE S R ~t Dimensions J1H Insert 4242 Screw #7F Wrench Stock
Ordering code Tmax | od| F | L1 [ L | H & R|L
S08H-SNGR/L06 2 8 47 | 15 | 100 7 6GR/L M2.2 x 4 T7 o | e
S08H-SNGR/L07 2 8 58 | 15 | 100 7 2GRIL o e
S10K-SNGR/L07 2 10 | 6.8 | 15 | 125 8 o e
S10K-SNGR/L08 35 10 | 7.6 | 20 | 125 8 oo
S12M-SNGR/L08 35 12 | 86| 20 | 150 | 11 8GRIL M2.5x6 T8 o|e
S$160-SNGR/L09 35 16 | 11.6| 20 | 180 | 14.8 9GRIL oo
S20R-SNGR/L09 35 20 | 13.6| 20 | 200 | 18.4 P
SIGE R/L 0808A-EH 1.5 8 4.8 | 20 | 100 | 7.2 [Sernioocoes-zooir | M2.0x4.5 T6 o e
1010B-EH 2.2 10 | 6.2 | 25 | 125 9 | aemtiooo0sm-200-0108 o e
1210B-EH 2.2 10 7 30 125 9 GER/L100-005BR~200-010BR M2.2x 4 T7 o o
SIGE R/L 1412C-EH 25 12 8 33 | 150 | 11.4 o e
oo | 25 e les |0l UG IRSHER: wese | T oo
| . GER/L100-005CR~200-010CR o ()
SIGE R/L 2020D-EH 45 20 | 12.1] 40 [ 180 | 19 [ omtisomnimo, M3.0x 8 T10 o e
SIGE R/L 2525E—EH 6.5 25 | 15.6 | 45 | 200 | 24 o e
3232E-EH 6.5 32 19 55 | 220 | 30.4 | Senuio-coses00-020 | pA () T15 o | e
4032E-EH 6.5 32 23 | 45 | 250 | 30.4 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

i 18+ 7)

M FGHH/FGVHE! FGHHE

mEE 7

L
Right-hand shown

1

L [
|

I FGVHE

FGHHZ!

E=21
mIE

FGHH 320R-25/30 12 | 25 125 | 20 o e
30/35 12 30 | 35 | 20.6| 125 | 20 | FMM300R-03| M5x20 L5 oo
35/48 12 35 | 48 | 20.6| 125 | 20 ol e
48/60 22 | 48 | 60 | 206 | 125 | 20 oo
60/75 22 60 | 75 |20.6 125 | 20 | FGD300R-03| . s ol e
75/100 22 | 75 | 100 | 20.6 | 125 | 20 | FGM300R-03 oo
100/140 | 22 | 100 | 140 | 20.6 | 125 | 20 ol e

325R-25/30 12 | 25 | 30 | 25.6 | 150 | 25 o e
30/35 12 30 35 | 256 | 150 | 25 | FMM300R-03 M5 x 20 L5 oo
35/48 12 35 | 48 | 25.6 | 150 | 25 oo
48/60 22 | 48 | 60 | 25.6 | 150 | 25 oo
60/75 22 60 | 75 | 25.6 | 150 | 25 | FGD300R-03 oo
75/100 22 | 75 | 100 | 25.6 | 150 | 25 | FGM300R-03| M5x20 L5 ol e
100/140 | 22 | 100 | 140 | 25.6 | 150 | 25 oo

420R-25/30 12 | 25 | 30 | 20.6 | 125 | 20 P
30/35 12 30 35 | 206 | 125 | 20 | FMM400R-04 M5 x 20 L5 o | e
35/48 12 | 35 | 48 | 20.6 | 125 | 20 oo
48/60 25 | 48 | 60 | 206 | 125 | 20 o e
60/75 25 60 | 75 | 20.6 | 125 | 20 | FGD400R-04 oo
75/100 25 75 | 100 | 20.6 | 125 | 20 | FGM400R-04 M5 % 20 L5 °o| o
100/140 | 25 | 100 | 140 | 20.6 | 125 | 20 oo

425R-25/30 12 | 25 | 30 | 25.6 | 150 | 25 o e
30/35 12 30 35 | 25.6 | 150 25 FMM400R-04 M5 x 20 L5 o0
35/48 12 35 | 48 | 256 | 150 | 25 oo
48/60 25 | 48 | 60 | 256 | 150 | 25 oo
60/75 25 60 | 75 | 25.6 | 150 | 25 | FGD40OR-04| .o .o s oo
75/100 25 75 | 100 | 25.6 | 150 | 25 | FGM400R-04 oo
100/140 | 25 | 100 | 140 | 25.6 | 150 | 25 oo

520R-25/30 12 | 25 | 30 | 20.6 | 125 | 20 oo
30/35 12 30 | 35 | 206|125 | 20 oo
35/40 20 35 40 | 20.6 | 125 | 20 | FMM500R-04 M5 20 L5 ol e
40/48 20 | 40 | 48 | 206 | 125 | 20 oo
48/60 25 | 48 | 60 | 20.6 | 125 | 20 ol e
60/75 25 | 60 | 75 | 20.6 | 125 | 20 | FGD500R-04 oo
75/100 25 | 75 | 100 | 20.6 | 125 | 20 | FGM500R-04|  M5x20 L5 oo
100/140 | 25 | 100 | 140 | 20.6 | 125 | 20 oo

525R-25/30 12 | 25 | 30 | 25.6 | 150 | 25 o e
30/35 12 30 | 35 | 25.6| 150 | 25 oo
35/40 20 | 35 | 40 | 256 | 150 | 25 | FMMS500R-04 M5 20 L5 o| o
40/48 20 | 40 | 48 | 256 | 150 | 25 oo
48/60 25 | 48 | 60 | 25.6 | 150 | 25 P
60/75 25 | 60 | 75 | 25.6 | 150 | 25 | FGDS500R-04 ol o
75/100 o5 | 75 | 100 | 25.6 | 150 | 25 | FGMS500R-04]  M5x20 LS oo
100/140 | 25 | 100 | 140 | 25.6 | 150 | 25 oo

FGVHEZH TERIrEMHE*ETENEFHER

FGVH 320R-25/30 72 | 25 | 30 | 20.6] 125 | 20 o o
30/35 12 30 35 20.6 | 125 20 FMM300R-03 M5 x 20 L5 )
35/48 12 35 | 48 | 20.6 | 125 | 20 ole
43/60 25 | 48 | 60 | 25.6 | 125 | 20 o e
60/75 22 60 | 75 | 256 | 125 | 20 | FGD30OR-03| . . L5 oo
75/100 20 75 | 100 | 25.6 | 125 | 20 | FGM300R-03 oo
100/140 | 22 | 100 | 140 | 25.6 | 125 | 20 oo

325-25/30 12 | 25 | 30 | 20.6 | 150 | 25 o
30/35 12 30 | 35 | 20.6 | 150 | 25 | FMM300R-03|  M5x20 L5 oo
35/48 12 35 | 48 | 20.6 | 150 | 25 50
48/60 22 | 48 | 60 | 25.6 | 150 | 25 e
60/75 22 60 75 | 25.6 | 150 | 25 | FGD300R-03 oo
75/100 22 | 75 | 100 | 25.6 | 150 | 25 | FGM300R-03| M5x20 L5 oo
100/140 | 22 | 100 | 140 | 25.6 | 150 | 25 oo

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B SER/LE l g ﬂ
SHEBLET) e
g .
i |
)
SER/L1010H11 10 | 10 | 100 | 16 | 10 | 12 ol
SER/L1212H11 12 | 12 | 100 | 16 | 12 | 16 | "TERL- M2.5x6 T8 lele
SER/L1212H16 12 | 12 | 100 | 20 | 12 | 18 ol
SER/L1616H16 16 | 16 | 100 | 20 | 16 | 20 ol
SER/L2020K16 20 | 20 | 125 | 22 | 20 | 25 | 16ER/L. | aMISBR | M35x12| M3x8C | T15 |e | e
SER/L2525M16 25 | 25 | 150 | 22 | 25 | 32 ol
SER/L3225P16 32 | 32 | 170 | 25 | 32 | 32 oo
SER/L2525M22 25 | 25 | 150 | 26 | 25 | 32 STM22T3R T20 e je
SER/L3225P22 32 | 32 | 170 | 28 | 32 | 3o | 22ERML. | Smvporal | M4.5x12] M3x8C | L o g,
B B-SER/LE
SMERGEET)

B-SER/L1010H16
B-SER/L1212H16
B-SER/L1616H16
B-SER/L2020K16
B-SER/L2525M16

10
12
16
20
25

10
12
16
20
25

100
100
100
125
150

20
20
20
22
22

10
12
16
20
25

18
18
20
25
32

16ERI/L..

STM1603R
STM1603L

M3.5x12

M3x8C

T15

VTHE#
(33 5F 7)
SEBRYLET

VTHR 1212H 16
VTHR 1616H 16
VTHR 2020K 16
VTHR 2525M 16

16
20
20

16
20
20

100
125
125

20
22
28

16
20
20

20
25
25

VTER16

M4 x 10

T15

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

] SNR/Li
BRLET I

9
4 !

TmEe R~} Dimensions JJJ: Insert | # 5 Shim | #2842 Screw | #2F Wrench |84 Screw Stock
CIELIEELE oD | ®d | f L Li | H | «° U.«'
SNR/L0007J08 10 7 55 | 110 | 16 6 o oo
SNR/L0008K08 11 8 6 125 | 16 7 15° | 08NR/L.. M2.2x5 17 o | o
SNR/L0010K11 13 10 7.2 | 125 18 9 o o
SNR/L0012M11 15 12 8.7 | 150 | 18 11 o o | o
SNR/L0013N11 16 13 9 160 | 20 12 15° | TINRL.. M2.5x7 T8 L
SNR/L0014N11 16 14 9 160 | 20 13 L)
SNR/L0013N16 16 13 9 160 | 20 12 e o
SNR/L0014N16 16 14 9 160 | 20 13 oo
SNR/L0016Q16 19 16 | 11.5 | 180 | 25 | 14.6 M3.5x10  TI15 L)
SNR/L0020R16 24 20 | 135 | 200 | 28 | 18.4 | 15° | 16NR/L.. L)
SNR/L0025S16 29 25 16 | 250 | 32 | 23.4 L
SNR/L0032T16 36 32 | 195 | 300 | 38 30 STM1603R L
SNR/L0040T16 44 | 40 | 235 | 300 | 42 | 38 STMisoaL M35 12| T15 | M3x8C| o | o
SNR/L0050U16 54 50 | 28,5 | 350 | 50 48 L)
SNR/L0025S22 31 25 18 | 250 | 32 | 23.4 15 L
SNR/L0032T22 38 32 | 215 | 300 | 38 30 o STM1603R o | o
SNR/L0040T22 46 40 255 | 300 42 38 15 22NR/L.. STM1603L M4.5x 12 T20 M3 x8C el e
SNR/L0050U22 56 50 | 30.5 | 350 | 50 48 oo
1k %5 = E &)

SIR0005H-06C-6.4 6.4 5 4.3 100 - 4.5 06NR/L.. M2 x4 T6 L )
SIR0008K-08C—09-20 | 9 8 5 125 | 20 7 ° o
SIR0008K-08C-10-20 | 10 8 55 | 125 | 20 7 08NRI/L.. M2.2x5 T6 o | o
SIR0008K-08C-10 10 8 59 | 125 - 7 LA ]
SIR0010M-11C-12 12 10 7.4 150 _ 9 / / o | o
SIR0012M-11C-15 15 12 8.5 150 _ 11 / 1INR/L.. M2.5x6 T8 e | 0
SIR0016M-16C-19 19 16 11.7 | 150 = 14.6 OO
SIR0016R-16C-19 19 16 | 11.7 | 200 - 14.6 o o
SIR0020R-16C-24 24 20 | 13.7 | 200 = 18.4 16NRI/L.. M3.5x10| T15 ° o
SIR0020S-16C-24 24 20 | 13.7 | 250 - 18.4 e o
SIR0025S-16C-29 29 25 | 16.2 | 250 = 23.4 O_|LO

H SNR/LE
R ZIELET)

TEE e R ~f Dimensions 71:* Insert 242 Screw #RF Wrench Stock
Ordering code oD od f L L1 H «° g RI| L
SINR/L0612K06-15 6.4 12 4.3 | 125 12 11 06NRI/L.. M2.0x4 T6 e |
SNR/L0816K08-18 8 16 5) 125 18 | 14.6 08NRI/L.. M2.2x5 T7 e | o
SNR/L0010K11-A16 12 16 7.2 | 125 20 | 14.6 o LA
SNR/L0012M11-A16 15 16 8.7 | 150 25 | 14.6 15 TINRIL.. M2.5x6 I | °
SNR/L0013N16-A16 16 16 10 160 25 | 14.6 LA 4
SNR/L1516M16-A16 15 16 8.5 | 150 30 | 14.6 16NRIL.. M3.5x10 s e | o

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

B SCLNHE!
ShEIZEHI
D

95" l

SCLNR 1010K-07FF
1212F-07FF
1212K-07FF
1616K-07FF |

&z

10
12
12
16

|

r | pm—

10
12
12
16

i{—g

125
85
125
125

15
15
15
15

10
12
12
16

B SDLNHE!
SPEIEH

10
12
12
16

CN..0703..

T8

M3 x 8

SDLNR 1010K-08FF | 10 | 10 | 125 | 18 | 10 | 10 .
1212F-08FF | 12 | 12 | 85 | 18 | 12 | 12 .
1212K-08FF | 12 | 12 | 125 | 18 | 12 | 12 | DN-.0803. T8 M3x8 .
1616K-08FF | 16 | 16 | 125 | 18 | 16 | 16 .
H STLNHE 1 m JSTACR/LE K
NEE ) f—} et .L f—}
- B == K

STLNR 1010K-09FF
1212F-09FF
1212K-09FF

1616K-09FF |

10
12

12
16

125
85
125
125

15
15
15
15

TN..0908..

T8

M2.5x7

JSTACR/L 0808K08 o o
101008 | 10 | 10 | 100 | 10 | 10 | 10 | 'C-0802. T6 | M2.2x6 | g |
1212K11 | 12 | 12 | 100 | 12 | 12 | 12 o | o
1616K11 | 16 | 16 | 100 | 12 | 16 | 16 | 'c-1102- T8 | M2.5x7 | .‘
B JSCL2CR/LE % % m JSDJ2CR/LE
SMEIZE A f . T sEEH
T
}

JSCL2CR/L 0808K06 | 8 8 | 125 | 10 | 8 8 o | o
1010k06 | 10 | 10 | 125 | 10 | 10 | 10 | ©C-0806.. T8 M2.5x7 | o |
1212K06 | 12 | 12 | 125 | 13 | 12 | 12 o | o
JSCL2CR/L1010K09 | 10 | 10 | 125 | 13 | 10 | 10 510
121209 | 12 | 12 | 125 | 13 | 12 | 12 | CC..09T3.. TI5 | M4x10 | o | o
1616K09 | 16 | 16 | 125 | 13 | 16 | 16 RNE

JSDJ2CR/L 0808K07 8 8 125 15 8 8 ° °
1010K07 10 10 125 15 10 10 DC..0702.. T8 M2.5x7 | e °
1212K07 12 12 125 15 12 12 ° °
JSDJ2CR/L 1010K11 10 10 125 22 10 10 ° °
1212K11 12 12 125 22 12 12 DC..11T3.. T15 M4 x 10 ° °
1616K11 16 16 125 22 16 16 ° °

s ERARETNR B IFELKITH,

ZH7-15K,

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

B JSVJ2BR/LE!
JSVJ2CR/LE

SMEIZEHI

ERM60°

B JSDN3CR/LE!

SMEIEH

E625°

JSVJ2BR/L 0808K11| 8 8 125 20 8 8 e | o
1010K11| 10 10 125 20 10 10 o | o
1212K11| 12 | 12 | 125 | 22 | 12 | 12 | VB.1103. T8 M2.5x6 | o |
1616K11| 16 16 125 22 16 16 o | o

JSVJ2CR/L 0808K11| 8 8 1;5 20 8 8 o | o
1010K11| 10 10 5 20 10 10 5 [ o
1212k11| 12 12 125 29 12 12 VC..1103.. T8 M2.5x6 | o | o
1616K111 16 16 125 22 16 16 o o

JSDN3CR/L 1212K07| 12 | 12 | 125 | 12 | 12 | 18 DC..0702.. T8 M2.5x7 | ® | ®
1616K11| 16 | 16 | 125 | 15 | 16 | 25 | DC..11T3.. Ti15 | M3.5x10| o | e
B TFTE =fAI¥iEl RELRHER
j:g TFTR10 |e|10[10] [0| |3 TF3300R| 0 | e
TFTR12  |e|12[12] [12] [1 TF3305R|0.05 e
: TETR16  [e]16/16) 20160 /] TF 33 [M4X10T15| 1r3315R0.15| o
BuEERR TFTR20  [e|20l20] 20 TF3320R|0.20| e
m TTPH!
B ERMI
NTK TTPR/L 08 4
ﬁ : 10 10 | 10 | 120 2
SIS 1 126X | 12 | 12 | 85 0 TTP..| Ti5 | M4x10
12 12 | 12 | 120 o0
i ENE ! 16H | 16 | 16 | 100 0
T—= T, | 16 16 16 120 0
20F | 20 | 20 | 80 0
e
m EEABSEZHIBAIW = 1
B SABS-40F%®! »)

BEFHIMT

H1

L1

SABSR 0810K-40F 8 10 125 42 | 10.2 °
1010K-40F 10 10 125 - 42 | 10.2 °
1212F-40F 12 12 85 - 42 | 12.2 ABS15R.. T20 M4.0x8 °
1212M-40F 12 12 150 - 42 | 122 °
1616M-40F 16 16 150 _ 42 | 16.2 °
2020K-40F 20 20 125 _ 42 | 20.2 °

SABWR 0810K-40F 8 10 125 _ 42 | 10.2 °
1010K-40F 10 10 125 _ 42 | 10.2 °
1212F-40F 12 12 85 B 42 | 12.2 ABWI15R.. T20 M4.0x8 °
1212M-40F 12 12 150 42 | 12.2 °
1616M-40F 16 16 150 - 42 | 16.2 °
2020K-40F 20 20 125 B 4.2 | 20.2 o

SABWR 0810K-50F 8 10 125 - 8.2 | 10.2 °
1010K-50F 10 10 125 - 8.2 | 10.2 °
1212F-50F 12 12 85 - 8.2 12.2 ABW23R.. T20 M4.0x 8 °
1212M-50F 12 12 150 = 8.2 | 12.2 o
1616M-50F 16 16 150 - 8.2 | 16.2 °
2020K-50F 20 20 125 - 8.2 | 20.2 °

www.cncnctools.com


http://www.mzcut.com
http://www.mzcut.cn

m KTKF®! =
B 5% E# -‘ - 4
|

KTKFR 0808K-12 8 8 125 15 6 8 °
1010K-12 10 10 125 15 6 10 (]
1212F-12 12 12 85 - 6 12 TKF..12R.. T20 M4.5x8 °
1212M-12 12 12 150 - 6 12 °
1616M-12 16 16 150 - 6 16 °

KTKFR 0808K-16 8 8 125 15 8 8 °
1010K-16 10 10 125 20 8 10 (]
1212F-16 12 12 85 - 8 12 TKF..16R.. T20 M4.5x 8 °
1212M-16 12 12 150 - 8 12 o
1616M-16 16 16 150 - 8 16 4

m TBPH ™
v - o
BEZEHMT ;Tt%:w—:— I
NTK 4 |
il
)

TBPR/L 08 . 4 . °
10 10 10 120 5.5 2 3.5 °
12GX 12 12 85 5.5 0 3.5 TBP.. T15 M4 x 10 °
12 12 12 120 5.5 0 3.5 °
13 13 13 120 5.5 0 3.5 o
16H 16 16 100 5.5 0 3.5 o
16 16 16 120 5.5 0 3.5 4
B TBVCE #ZFgimT NTK
g P! -
m 1 4 1 TBVCR 10 e[10[10] [10]
= 12 e | 12|12 | 12]7.5
TBVCE T K 16 e 16162916
10-F10 | e |10 10 10 TBVC |M2.5X7| T8
12GX-F10| e 12] 12 85| 12 VCGT1 103
12-F10 o 120 10
TBVC11FRO5U | ® [ ® 0.05 16H-F10 | o | 1o 16100 1g
TBVC11FR10U | ® [*| 6.35 | 3.18 | _F10 . 120
TBVC11FR10S | ® | ® ' 20F-F10 | ® [ 20|20 |gg |20

= TBTH!

L S =
v___
BLERAR 8§ °’ BRAEENR)

m SVN&!

s BRIOCERS

SRR EREARTRE

TBTR/L O8F 15| TB3200R/L 0.00
08K 88120 8 3205R/L| 0.05
10F 10[10[80[10 3210R/L| 0.10

o
[ ]
[ ]
70K [e[10[10/120110" TF33 M4X10\T15| ool 015
.
o

12F 3220R/L] 0.20
12K

— SPOxAERBE

i

SVNR 1010H12N 10 10 100 22 10 VNBR.. °
1212K-12N 12 12 125 22 12 VNBTR..
1616K-12N 16 16 125 22 16 VNGR.. T10 M3 x 8
2020K-12N 20 20 125 22 20 VNFGR..
2525M-12N | 25 25 150 22 25 VNTR..
B 4% A FLEY TTHFAT HI3E BBk o

www.cncnctools.com -


http://www.mzcut.com
http://www.mzcut.cn

on e R 3L 1% N
NTK ©KYOCERT
B CTPHE! &M/ =
BEEMMT _‘ == 1
[ PR
NTK | TGOS :
=Ry
CTPE RAYHEZE1ITmm

CTPR/L 08 8 10 120 8 4 5.5 ° °
10 10 10 120 10 2 5.5 ° °
55 | cTpx(twiz)| T15 | M4oxs | ® | ®
13 13 13 120 13 0 5.5 CTPX (I 71) ° °
16H 16 16 100 16 0 5.9 o o
16 16 16 120 16 0 5.5 o o
CTPAR! RXAXYBEEISmm BESNGEHILA
CTPAR/L 10 10 10 120 10 2 7.5 CTPA{IH 77) ° °
12 121212000120 TS  orpaxdnwi gl T15 | M4.oxs | O | ®
16 16 16 120 16 0 7.5 TBPA(E % 8l) ° °
20F 20 20 80 | 20 0 7.5 - e | o
CTPWE RAVEEEIOMM
CTPWR/L 10 [ 10 | 12 [ 120 | 9.95 [f=0.6 | 15 | o [ o
12 12 12 120 11.95 f=0.6 15 CTPW25.. ° (]
. T15 M4.0x 8
16 | 16 ‘ 16 ‘ 120 ‘15.95‘f=0.6‘ 15 (45 77) x ‘ . ‘ .
20 20 20 120 | 19.95 | f=0.6 15 [ [
O
CTPR 08-SUB ® 128 |8|120[10] |4 |
08J-SUB |*|12|8|8110[10] |4 |
E[ 10F-SUB || 12|10/10]80 1055£cg;;5:$mnxv)l
B 10KX-SUB |e|12[10[10120[10 | 2| =™ | M4X5 T15
;[ 12GX-SUB |e|12|12/12/85[12| |0 |
12-SUB e 12|12[12/120[12 0
BRAETR) CTPL 08-SUB o128 8120/ 8 4
08J-SUB |e|12( 8|8 [110| 8 55 2 TR | Maxs | T15
10GX-SUB|e|12]|10/10|85(10 2| o
12GX-SUB |e¢|12(12/12|85(12 0
CTPAR10GX-SUB |®|16|10/10/85|10 2
12GX-SUB |®[16(12(12|85|12[0.0] O |“&%:"a0™| M4X5 |T15
E[ 12KX-SUB |e| 16]12[12/12012] |0
T CTPAL10GX-SUB |e|16(10{10/85|10 2
12GX-SUB |e|16(12(12]85 1255 0| .
;[ 12KX-SUB |e|16]12/12/120[12 Sl g | M4X5 |T15
16GX-SUB|e|16|16|16|85|16 0
BERIEFIL)
| wiBMABm NTK
] I 2
4 = I - |
T BERABEFIR) T —-E
LBMD1020FLVB 10| 2.0|0.00( ®
LBMD1020FLPBO5 | 1.0 | 6.0 | 0.05| e
LBMD2060FLVB 20| 60| 00| e
LBMD2060FLPB05 20| 6.0 | 0.05| @
LBMD1020FLVBS 1.0| 2.0 |0.00| ® LBME2060FLV 20| 6.0 00| e
LBMAR 10SGX |® LBMD1020FLPB05S | 1.0 | 2.0 [ 0.05| @ LBME2060FLP05 2.0 | 6.0 [0.05| ®
108 e 10 [10]10]10 LB LBMD1430FLVBS 14 30[00|e LBME2060FLVB 20[60]00]e
128 o 12 [12]12]12|°° LBMD1430FLPB05S | 1.4 | 3.0 | 0.05[ o LBME2060FLPBO5 | 2.0 | 6.0 | 0.05| o
LBMAR 08 o s s s s LBMD1730FLVBS | 1.7| 3.0 | 0.0 | o LBMC3080FLV 30| 80| 00]|e
10 o 10 107070 Ma.0x10 | T15 LBMD1730FLPBO05S | 1.7 | 3.0 | 0.05| ® LBMC3080FLPO5 | 3.0 | 8.0 | 0.05
LBM(G)3080 LBMD2035FLVBS | 2.0 | 3.5 | 0.0 | » LBM3080FLVB 30| 80| 00(e
10-F ®| 10 |10} 10 |10 |17-0, gmp(E)2060 LBMD2035FLPB05S | 2.0 | 3.5 | 0.05| @ LBM3080FLPBO5 | 3.0 | 8.0 | 0.05| ®
12 | 12 |12]12]12] o nemproze LBMD2335FLVBS 23| 85006 LBMC3080FLVB 30| 80| 00(e
16 o| 16 [16]16] 16 LBMD2335FLPBO5S | 2.3 | 3.5 |0.05| o LBMC3080FLPBO5 | 3.0 | 8.0 | 0.05] o

www.cncnctools.com



http://www.mzcut.com
http://www.mzcut.cn

	1: 车花滚花刀具
	2: MZG数控车刀表示方法
	3: HAO凸轮放射型刀座用刀柄
	4: CSV凸轮放射型刀座用刀柄
	5: 钻头套筒用DS刀柄
	6: CH正面排刀/Y轴控制用刀柄
	7: 钨钢小径内孔切槽螺纹刀
	8: 自动焊接车刀套筒夹头
	9: 前车削
	10: 前车削/螺纹车削/后车削
	11: 后车削/切断切槽/小孔加工
	12: 背车削/切断切槽/小孔加工



